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Using Your Question-and-Answer Service (QAS) Report
This booklet contains the SAT® you took in January 2010, starting with all the essay prompts given in N
January, including the one you answered. It also includes scoring information. If the SAT you took

" included an unscored “equating” section, this booklet will not include that section.

- Reviewing Your SAT Resulls
To make the best use of your personalized QAS report, we suggest that you:
o Read each question in the booklet, then check the report for the type of question, the correct answer,
how you answered it and the difficulty level.
e Analyze test questions you answered incorrectly to understand why your answer was incorrect. Check to
see whether you might have mistead the question or mismatked the answer.
o Keep track of how you did on the different types of questions (as labeled on your QAS report), either by
using the table below or by printing your online score report at www.collegeboard.com/mysat. This can
help you understand your academic strengths and identify areas for improvement. :

Number |Number {Number

Section Type of Questi.on Correct |Incorrect | Omitted
Critical Reading C Sentence completion
, ' R Passage-based reading
Mathematics ‘ N Number and operations
' A Algebra and functions

G Geometry and measurement
: D Data analysis, statistics and probability
Writing Multiple-Choice | S Improving sentences
- E Identifying sentence errors
P Improving paragraphs . -

‘Reviewing Your Essay ‘ _ : ‘

View a copy of your essay online at www.collegeboard.com/viewessay. On the practice sheets in the back of

this booklet, you can try writing your 'essay again or practice writing\an essay for one of the other prompts _in

this booklet. :

Scoring Your Test ¢

- Use the Scoring Worksheet, SAT Essay Scoring Guide and score conversion tables at the back of this booklet
to verify the score on your test. Use the Form Code shown at the top of your personalized QAS report to locate
your particular score conversion tables. The Scoring Worksheet and score conversion tables are specific.to the
test you took. Do not try to score any other tests using them. : :

Practicing to Take the SAT Again A -
The best way to prepare for the SAT is to take challenging high school classes, read extensively and practice
writing as often as possible. Also check out the College Board’s free and low-cost practice tools for the SAT, *
such as The Official Question of the Day™; and be sure to visit SAT Skills Insight™ at www.collegeboard.com/
~ satskillsinsight. It provides you with the types of skills that are tested on the SAT, suggestions for improvement
and sample SAT questions and answers to help you do better in the classroom, on the test and in college. When
you are ready, you can register to take the SAT again at www.collegeboard.com/mysat. '

Now that you’re familiar with the test, you’re more prepared for the kinds of questions on the SAT. You're aISQ
likely to be more comfortable with the test-taking process, including the time limits. On average, students who
take the SAT a second time increase their combined critical reading, mathematics and writing scores by abou
40 points. =
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ESSAY

: Time — 25 minutes

The essay gives you an opportunity to show how effectively you can'develop and express ideas. You should, therefore, take
care to develop your point of view, present your ideas logically and clearly, and use language precisely.

Your essay must be written on the lines provided on your answer sheet-~-you will receive no other paper on which to write.
You will have enough space if you write on every line, avoid wide margins, and keep your handwriting to a reasonable size.
Remember that people who are not familiar with your hanidwiiting will read what you write. Try to write or print so that what
you are writing is legible to those readers.

Important Rﬁmindersﬁ

R b g vt o

* A pencil is required for the essay. An essay written in ink will receive a score of zero.

* Do not write your essay in your tesé book, You will receive credit only for what you write on your
answer sheel.

o An off-topic essay will receive a scove of zero. '

o Ifyour essay does not reflect your original and individuai work, your test scores may be canceled

o,

i

You have twenty-five minutes to write an essay on the topic assigned below.

——

| Think carefully about the issue presented in the ff;llowing excerpt and the assignment below.

{ra External constraints-—factors that limit people’s plans and projects——can create stress, but this

stress is not always bad and may even be necessary. In fact, the pressure of deadlines, budgets,

rules, and the demands imposed by others can push people to accomplish things that they would
find impossible to accomplish with unlimited time, money, and the absence of pressure. .

Adapted from Jena Pincott, Success: Adwce for Achxevma Your Goals fr “om Remarkably
Accomplz?hed People : .

. 4 _ . .
| Assignment:” Do the demands of others tend to make people more productive than they would be without such pressure? Plan
and write'an essay in which you develop your point of view on this issue, Support your position with reasoning
and examples taken from yows reading, studies, experience, or observations,

~ BEGIN WRITING YOUR ESSAY ON PAGE 2 OF THE ANSWER SHEET.

I you finish before titne is called, you may check y-our work on this section only.
Do not turn 1o any other section in the test.
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ESSAY

Time — 25 minutes

The essay gives you an opportunity to show how effectively you can develop and express ideas. You should, therefore, take
care to develop your point of view, present your ideas logically and clearly, and use language precisely. - s

Your essay must be written on the lines provided on your answer sheet—you will receive no other paper on which to write.
You will have enough space if you write on every line, avoid wide margins, and keep your handwriting to. a reasonable size.
Remember that people who are not familiar with your handwriting will read what you wiite. Try to write or print so that what
you are writing is legible to those readeys. o :

Important Remindérs:

o A pencil is required for the essay. An essay written inink will receive a score of zero.

» Do not write your essay in your test book. You will receive credit only for what you write on your .
answer sheet. -

¢ An off-topic essay will receive a score of zero. . : L .
» If your essay does not reflect your original and individual work, your test scores may be canceled,

~You have twenty-five minutes to write an essay on the topic assigned below.

Think carefully about the issue presented in the following excerpt and the assignment below.

“Are people entitled to have their own opinions? Yes and no. People can have virtually any
opinion, no matter how illogical, uninformed, or foolish. But this does not mean that they
are entitled to have their uninformed opinions taken seriously or that their opinions should
be considered as valuable as informed opinions. Opinions are valuable.only when they are
backed up by thorough knowledge of the subject.

Adapted from John Chaffee, The Thinker's Way

. . hl .
‘Assignment:  Should all people’s opinions be valued equally, or should only informed opinions be taken seriously? Plan and
' write an essay in which you develop your point of view on this issue. Support your position with reasoning and
examples taken from your reading; studies, experience, or observations. ' '

- BEGIN WRITING YOUR ESSAY ON PAGE 2 OF THE ANSWER SHEET.

I you finish before time is called, you may check your work on this section only.
: Do not turn to any other section in the tesl.
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HESSAY
Time — 25 minutes

The essay gives you an opportunity to show how effectively you can develop and express ideas. You should, therefore, take
care to develop your point of view, present your ideas logically and clearly, and use language precisely.

{
{
!

Your essay must be written on the lines provided on your answer qheet—-you will receive no other paper on which to write.
“You will have enough space if you write on every line, avoid wide margins, and keep your handwriting to a feasonable size.
Remember that people who are not familiar with your handwriting will read what you wute le to wnte or print so that what
you are wntmg is legible to those readers.

Imporiant Reminders:

o A pencil is required for the essay. An essay written in ink will receive a score of zero.

e Do not write your essay in your test book. You will receive credit only for what you write on your
answer sheef. :

s An off-topic essay will receive a score of zero, : S

o [If your essay does not reflect your original and individual work, your test scores may he canceled

You have twenty-five minutes to write an cssay on the topic assigned below.

Think carefully about the issue presented in the following excerpt and the assignment below,

There are books that try to show the world as it is and books that try to show the world as it
should or could be. Which sort of books should we be offering children and reading ourselves?
One answer is the argument for the value of truth, for “telling it like it is.” Writers could promote
certain positive ideals by being less realistic, but all of us—espec1ally ch11d1en-Hhave a right to
be told the truth. :

Adapted from Claudia Mills, “The Ethics of Representation: Realism and Idealism in Children’s
LFmtmn : .

Assignment:  Should books portray the world as it is or as it should be? Plan and write an essay in which you develop
your point of view on this issue. Support your position with reasoning and examples taken from your
reading, studies, experience, or observations.

BEGIN WRITING YOUR ESSAY ON PAGE 2 OF THE ANSWER SHEET.

if you finish before time is calied you may check your work on th&s section only.
Do not turn to any other section in the test.
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The essay gives you an opportunity to show how effectively jpu can develop and express ideas. You should, therefore, take
care to develop your point of view, present your ideas logically and clearly, and use langnage precisely. ‘ :

Your essay must be written on the lines provided on your answer sheet—you will receive no other paper on which to write.
You will have enough space if you write on every line, avoid wide margins, and keep your handwtiting to a reasonable size.
Remember that people who are not familiar with your handwriting will read what you write. Try to write or print so that what
you are wiiting is legible to those readers. ' ‘ ' '

Important Reminders:

e A pencil is required for the essay. An essay written in ink will receive a score of zero.

¢ Do not write your essay. in your test book. You will receive credit only for what you write on your -

_ answer sheet. - ‘ '

o An off-topic essay will receive a score of zere. _ _ .

o If your essay does not reflect your original and individual werk, your test scores may be canceled.

You have twenty-five minutes to write an essay on the topic assigned below.

Think carefully about the issue presented in the following excerpt and the assignment below.

Great discoveries often-occur when a person explores the unknown, venturing far from what

is familiar. But important breakthroughs — innovative solutions to difficult problems, for
example — can also result when people take the time to look closely at their daily surroundings.
In fact, the greatest discoveries.often occur when people recognize in their familiar surroundings
certain opportunities that others have overlooked or when people recognize that the way things
have always been done is unjust or ineffective or unnecessary. o

Assignment: Do people make the greatest discoveries by exploring what is unfamiliar to them or by paying close attention
to what seems familiar? Plan and wiite an essay in which you develop your point of view on this issue. Support
your position with reasoning and examples taken from your reading, studies, experience, ot observations.

BEGIN WRITING YOUR ESSAY ON PAGE 2 OF THE ANSWER SHEET.

if you finish before time is called, you may check your work on this saction oniy.
: Do not turn to any other section in the tast.
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SECTIONZ —
Time — 25 minutes
25 Questions

~Turnto Section 2 (page 4) of your answar sheet to answer the questions in this section.

Directions: For each question in this section, select the best answer from among the chowes given and fill in the cor1espond1ng

circle on the answer sheet.

Each sentence below has oﬁe or. two blanks, each blank

indicating that something has been omitted. Beneath
- the sentence are five words or sets of words labeled A

through E. Choose the word or set of words that, when

inserted in the sentence, best fits the meaning of the
sentence as a whole.’ -

Example T
HOng 10 wmmeeet the dlspute negotiators proposed
a compromise that they felt would be < - to both

labor and management.

(A) enforce . . useful

(B) end . . divisive

(C) overcome . . unattractive

(D) extend.. satisfactory
 (E) resolve . . acceptable

00000

\)(e\q:‘

TN o
1. Since codfish are ------- pait of the marine ecosystcm :

their ~----«- woyld adversely affect the animals who
depend oni them as a source of food. : T

sl

(A) ane . tigration

(B)- a'vital . ex1s;eﬁce :

(C), a compatible . plommlty
an integral . . extinction

(B} an inexplicable . . eradication

2. The gifted child-poet Minou Drouet, haited ir

the 1950s as an artistic -------, now lives in relative

géc,\d-g-\—-- enjoying a pnvacy unavallable toherasa '

child.
—

(A) paragon . . opehce
(B). dilettante . . oblivion

prodigy . . anonymity -
oY

. oI
" gury .. passifity ¥ UJ
- (B) Ch}ﬂ’atan . seclusion = ges 6"“)(

oratorical spontaneity, his ability to deliver ﬁf
speech,

£B) an abrasive

£ a meticulous
(E) a lackluster

NS

\((‘j\&cd(}

- (‘,«\ ~
4. Ms. Nunez was ----- -, remammg assured and selfs
contt olled even ‘in the most volatile of s1tuat1onb

(A) ungamly (B} autocratic - unﬂappable
' -(D) egotistical (E) demonstratwe , .

5. The delegates” behavior at the converntioi was utterly
- disgraceful and fully deservmg of the ste-mc='it .
provoked. i c’_“f) ec -

Jancor Wethargy (¥ commiseration
(D‘)‘forbearance ) ((.Ea'compunction '

6. Gwen's ambmous desert h1ke was 1mpeded by the heat

(A dLSonented ?a't(
4By dexterous . . cirCumspect
(C) dehydrated . dlsﬁe’fﬁte é’,“ N
(D) feverish . .regint =
@ debilitated . . disheartencd

7. Because of their spare, white appearance, ancient
Greek statues in modern museums are often considered
ol ... yet newly unearthed antiquities showing traces
of bngh‘t"plgment are not $0 ------- ’\q Yoo

(&) plain., opee Best wo(ci +
- (B) .elagmrﬂ . spartan

C) - ostemtfiious . . vivid
austere’, . unadorned

) commonplace . . unattainable
8. Former news anchor Dan Reith‘ér had -~ for
colorful ------- ; for example, he once described

apolitical race as “Spandex tight.”.

(A) adi te . . aphorisms
{ akﬁ epistles

A{C)) a penchant . . locutions

(D) ayen..pagadidms

(E) an gmpathy . euphemisms

¢oE
e &(

L&
\J‘BO( )( (v'/
o~

GO ONTO THE NEXT PAGE>
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Line

10

Each passage below is followed by questions based on its content. Answer the questions on o basis of what is stated or implied
in each passage and in any introductory material that may be provided. '

Questions 9-10 are based on the following passage.

From the carliest times, the complications inherent in
@M%W%r%of planets in the Tight SKy must
have seemed a curse to balfled-astronomers. In the long
run, though, they proved a blessing to the development
of cosmology, the study of the physical universe. Had the

£ . . . . .
cé Iesuai.mouons been simple, it might have been possible
to explain them solely in terms of the simple, poetic tales

that had characterized the early cosmologies. Ir‘agt_ga._gl._
these motions proved to be so intiicate and subtle that

- astronomets could not predict them accurately without

eventually coming to_terms with the physical reality of
how and wherte the Sun, Moon,.and planets actually move

o e R .
{fi Teal, three-dimensional space. '
g e

e
9. The primary parpose of the passage is to
AT emphasize the importance of myth in gf_gigi,

. civilizations. .-
explain how an astronomical problem affected

the development of a physical science _
£ predict the motions of planets outside of our solar
system- o . ©
A7) challenge the major achievements of some ancient
astronomers : 7
compare celestial movements in different time
periods -

10. The passage indicates that ancient astronomers were
“baffled” (line 3) because

(7'-6 their observations disproved the poetic
tales of early cosmologies —

() they lacked the mathematical sophistication
needed to calculate astronomical distances

(@) they did not properly distIEUTS i\
astronomy and cosmology

) their theories, of planetary movements WeiG, o/

o/
S
&

muore complicated than the movements
Ir thémselves
£) Ythey could not reliably predict observable
celestial phenomena

x

_ Questions 11-12 are based on the following passage.

‘Line

10

D
w('
g

“Er

e/

Most advertising researchers who work for and advise
businesses assume that consistent, long-term advertising
campaigns are an effective way (o project a solid, enduring
image and to maintain an ongoing relati
consurmners and the company’s products;
lmie\bdlﬂrs.L’%l‘gd_r@;arch on the effectiveneig a
strategy. This is partly because most advertising studies, in
an atternpt to control for “background knowledge,” focus
on new ads or fictitious brands. Also, while the proverbial
wisdom tnay be to use a consistent, long-term campaign,
businesses rarely do so. More commonplace is the

switching of campaigns 1o gain consumers’ interest.

11. “The author indicates fhat the assumption described in
lines 2-5 (“that . . . products”} is

unsubstantiated
(B) self-defeating
(C) self-serving
(D) trendy ’
{E) reckless’
12. The passage jmplies that advertisers frequently attempt
to “gain consumers Thterest” (line 12) by using

flattery "\p“) R
BiNynovelty ‘? . (5
persistence *N
Q) shock t‘SF '

A

WQ_ humor

GO ‘ .
m r
to{/cq -(eJ

GO ONTO THE NEXT PAGE
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50
This passage, alapted from a novel, is set during the
JQng A boy and his father are driving to New York
City, where the father, Earl, hopes to begin g career,
05 a musician.. |
. 55
Earl's aim was to take two-lane highways all the way
from Chicago to New York. “This way,” he explained, as -
we moved out into the hot July dawn, “we'll actually see
Line. where we're going, I hate those turnpikes, Virgil. They're
5 inhuman and, just you wait, one day they’ll take over the - 0

whole country. Everything will be concrete.” There were:
other, less sentimental reasons for taking the back roads:

Gk‘ 1o tolls to pay, cheaper gasoline stations, and a chance
to Pice shap when%’ézr:mum 44
He had me laughing from the moment we left town es
E_d'pever seen him in better spiritsjHe did imitations - o €
all across Indiana. In Ohio, our road sometimes moved \(a.?
right alongside the turnpike and we could see the new . &
cars, with their outlandish fins, passirig us as regularly 6
15 as cards being dealt off the top of an endless deck. Earl
ugEd The Poiiliac on with whoops and slaps at the steer-
ing wheel, like a cowboy racing his horse against a train.
* He made remarks to the waitresses in the little restaurants
we’d stop in every three hours, coolly demanding boilin
20 water for his imported tea bags and then lavishly compli-
menting their culinary skills. He even let me listen to the
car radio and seemed to develop a taste for Elvis Presley
singing “Won't You Wear My Ring Around Your Neck.”
We were like convicts escaping; every mile crossed
25 testified to our incredible good fortune, our giddy peril. 80
Earl wanted tome country in one sprint,
without wasting money on a motel. He asked me to keep
an eye out for hitchhikers, so we might have someone to
share the driving. My father had, however, exacting tastes
30 in hitchhikers and though we passed perhaps a half dozen,
I had no Juck in finding someone who met Earl’s standards.
“No, I won’t ride with servicemen,” said my casually
seditioys father, as he slowed down and peered at a young
soldier and then resumed his full cruising speed, while I,
35 patriotically offended, watched the stunned defender of
my freedoins KicKing at his duffle bag and getting smaller
and smaller as planet Pontiac continued its fuming orbit.
We passed teenagers, we passed old men, we passed
aman in a suit who held a gas can, and each time Earl

40 had a different exguse foy not stopping.
Finally, I felt the sullen rage of one whose suggestions

have been systematically re@ and [ exploded, “Why

75

don’t you ever stop? It’s noiffairfo look at people and
then not stop!”

45 Earl looked at my face. “I don’t know, Virgil,” he
said. “I think the reason is that T don’t want anyone
in the car. We neyep have any time alone and I like
it with just the two of us.”

pol©
@/"‘\

.
X/ 951}/ ‘

My reply was a weak reflex and it could not conirol the
surprise [ felt at hlS anexpected tenderness nor could it ;ﬁ
conceal the tears 10 my €Y Wanted us to be alone!

How wonderful, yet how disturbmc, and how unprépared
Lwas to hea it. E—

T We pulled ir for the night some twelve hours after /'\ @
leaving Chicago and checked into a nameless motel. We c‘ L
stayed in a cabin that smelled like a Brand new shoe. It
had two double beds, soft as éclairs, pink walls; sanitized

" glasses, and a TV that received but one channel and even
that rather ectoplasmically. It was in this motel that my
father and I spent one of the best nights of our lives. -
He watched television with me for a while and then he
cadged a deck of cards from the motel manager and did
card tricks for me——a talent I had no idea he possessed.
Then my father and I played casino and were so enter-
tained and comforted by the game that we took the deck
with us when we drove for a late night snack of ham and
eggs. The sky was riddled with stars and before we went
to bed we turned out ail the lights in our room and looked
out the window. T thought about my mother because 1 -
always imagined her beneath a sky bright and.thick with
stars, planets, comets, and moons. Earl had eisoft Iqit_a_:)_t
expression on his face and T was certain his t ts moved
in the same direction as mine, and for that moment our @
combined with our blood, and he wag iend. We whis-
pered to each other in bed, Tike 1 boys who fear they might
be overheard. He told me what he remembered of New
York, a city which, in his mi g itself in its
huge electronic fist. I don’t remember what 1 said, but

1 was sure he was listening, and certain that, perhaps
lfm the very fnft time, I truly interested him. ’ 4]ﬁ{
"

3

13, The passage is pumarﬂy concemed with © wo

€707 presénting a portrait of gn ¢1a i
@ reflecting on a difficult decision
describing a memorable experience
acknowledging a lifelong regret
_{By- articulating a childhood grievance

4 Virgil suggests that Barl’s explanation in lines 2-6
( ‘Thltrj“&’)?lcrete’ "y should be viewed as

A4A) narrow-minded o
@ defensible e
incomplete
) commonplace t\’\"p( je? ® e {
) amusing e
) ¢ ~
L k il e
e Y

GO ONTO THE NEXT PAGE
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of the “reasons” (line 7) ? :

&boFaster travel
{By-Scenic views
£y Less pollution

Fewer cities
(é Tnexpensive motels
16. The reference to “cards” (line 15) serves to suggest
. (A9 foolish gamble- Bon ¥
( (B; Ya continuous sequence
. the randomness of fate

(D} the deceptiveness of appearances

(E) the importance of luck (& ¢ 3

e red

17. Inline 17, Earl is compared to a ‘{cowboy” ini order

to- mphasize his - , / %
(A) ywild ex’ubcfanée \ ’
: rugged appearance * B oy +
U=y quest for freedom
&7 mistrust of technology L
| @y 1?ove of the outdoors . Bal
18. The reference to “convicts escaping” (line 24) is
primarily used to express a sense of

) grim pursuit Ba v ¥
£ cglehy progress
inevitable punishment

D)) unaccustomed freedon
By unspoken regret

19. Earl’s remark in line 32 (“ ‘No . . . servicemen’ ")
strikes Virgil as being

((A) )disloyal
B shrewd
(C) confusing
(B humorous
(B) irrational

‘

Y- ¢
) a &3
I
CO ? 0\‘\{ \I

-10-

20. In ling 43, “fair” most neaily means

right

attractive
(C) impartial
(D) adequate
(E) moderate

21. The final paragraph primarily suggests a growing
sénse of Se————

' companionship
BT responsibility

‘@) tolerance
(B} upheaval
(B danger
22. Virgil's reference to a “brand new shoe” (line 57)
does which of the foliowing?

&) Offers a surprising discovery
6B Intr a recurrent symbol
() Indicates a feeling of discomfort
Evokes a sensory impression -
(E)} Tmplies a sense of regret .

23, Inline 72, “soft” most nearly means

Lér comfortable
{Br lenient

(Cy impressionable

weak.
tender

o GO ONTO THE NEXT PAGE )
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— %4%847&9944&4}3&&?0 —J&Gi}%heugh{mwfﬂeﬂfk%&bcﬁww%w assage suggests that-Virgit s most impressed by

charactetized as one of Fhiv S A which aspect ohm'day s events?
i
Ldolightheartedness : j omé j 4/ (A) The revelation of his father’s affectlon
B3 apprehension . : T for him :
(C) isolation b\/ \')0  nro ' @37 The celebratory nature of the car trip
despair 90\\ asl - €27 The discovery of his father’s philosophical
wistfulness - i a, e s ) beliefs ——

@3> The excitement of seeing new places and ‘
trying new foods dtoe Specibicl r
ABr The vastness and beauty of the night sky Jeo S@@¢’ 'c

| el
e W
'-‘ Pof \/ e ) i !

STOP

It you finish before time is cailed, you may check your work on this section only.
Do not turn to any other section in the test.

“11-
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SECTION 3 A

. YA I YA Y
Tima = '-'ﬁii-zw-teal (frj = Y
13 Questions =

Turn to Section 3 (page 4) of yow?fﬁ"s"ﬁr‘éré'heei to answer the questions in this section.

Directions: This section contains two types of questions. You have 25 minutes to complete both types. For questions 1-8, solve
each problem and decide which is the best of the choices given. Fill in the corresponding circle on the answer sheet. You may
g use any available space for scratch work.

The number of degrees of arc in a circle is 360.

-
1. The use of a calculator is permitted.
2. All numbers used are reat numbers.
n 3. Figures that accompany problems in this test arc intended to provide information useful in solving the problems.
] ) i . . PR L . T Pl e :
% They are drawn as accurately as possible BXCEPT when it is stated in a specific problem that the figure is not
‘ - drawn to scale. All figures lie in a plane unless otherwise indicated.
4. Unless otherwise specitied, the domain of any function f is assumed to be the set of all teal nurbers x for which
S0 s a real number,
- :
5 4 T
2 - o 2y i
] hop p X
=i w ,
5 a w (e -
(o) b F S - - i
= : ) ¢ vV3
B P | X’
o] A=ars i . C e P
2| e A= {w A= 3bh V= (wh V=grh cr=a+h? Special Right Triangles
gl C=2ar . 3 . : : /
8
&
3]
"4

The sum of the measures in degrees of the angles of a triangle is 130.

1. Ellen washed x cars each day for 5 days. Which of the 2. If % =2, thén 4 +% =
following represents the total number of cars Ellen . € .-
washed during this period? 1
: (A) 3 o D"‘
: B) = \ \
B) x-5 3 G-
© x+5 @ I \
5 3 -
N ® 3 Loy -
E) J5x ' 5 — == by
E) 3 - 2

GO ONTO THE NEXT PAGE
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DISTRIBUTION OF EARNINGS

1’23123

18% Federal Tax
T% State Tax
5% Other Taxes

3. The circle graph above shows the taxes deducted from
an employee’s weekly earnings of $600. The shaded
region represents the portion remaining after taxes
have been deducted. What amount of money does
the shaded portion represent?

¢
o

L (A). $70
(B) $180
(O) $252

D) $350
@ $420

Ao
o o0

N

W

4, What is the radius of the largest sphere that will fit
inside a cube with edges of length 27 \-ﬁ

ﬁAbl | \ o

®) V2 6’ ~
© %—2_ | \z/’"b)
o 2

® 242

13-

5. The first term of the sequence above is 1 'md the
terms 1, 2, and 3 repeat in that order infinitely.
What is the sum of the 48th and 49th terms of thts

sequence?
u\%

(A) 3
4
() 5
BT 6

;E«)’B

\E‘.?é’;

X
%

\ 2!

6. For all numbers x and y such that x <y, which of
the following is true about the expression x — | y{ ?

eIt is equatl to O,
£ is negative.
A€Y It is positive.
(D) Itisequalto2x. -
(B) Ttis equal to 2y.

GO ONTO THE NEXT PAGE )
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7. If the angles-of-a-triangle-measure 1%, 3°,-andz"-and

W

these measures are in the ratio of 3:4:5, respectively,
what is the valug of z 7

(A} 45

60 - B -1
) 75 | - 0
9 - - ' |

(B) 105

by = f(1)

8. The graph of the function £ is shown above. If 4, b,
and ¢ are vatues of x for which f(x) is defined,

' L\ ! < : which of the following must be true?
EX - ~ @f(0)+f(a)=f(a) -
e o ®) fl-a)= f(a)
¥ . - (O) If a <b, then f(a) < f(b).

©) If a <0, then’ f{a) < 0.
(B) fa+b=c then f{a)+ f(b) = flc).

GO ONTO THE NEXT PAGE>
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7 D:reLtmns' Tor Studcnt-Preduwd Response guestions 9-18, use the grids at the bottom of the answer

2

- sheet page onwhich you have answered questions 1-8.

z
Answer: 12

Fach of the remaining 10 questions requires you to solve the problem and enter your answer by marking the circles
in the special grid, as shown in the examples below. You may use any available space for scratch work.

Answer:

Answer: 201

25 . oL
Either position 1s correct,

Write answer | 77/ 2 5 2101011121011
in bhoxes. — Fraction o T
). line L8 LR +— Decimal () i
O©@i© @[®]@]  point OIS O] | @
O0lf O, OO ONHO; olfo)iolL: JRtoliolt 210
coge s el slall
aidin - 10 e0|®| ®O|®|®|® toiloltolto] =20ok
| (3(6(® Slieltolte] '
' : Note: You may ¢ " AnSWers
% % ;ﬁ%at_l%co(l)m:;,{;zi:gf:&:th;wges
wmns ne ded should be lef
&% @ & & & &2;‘1? ot needed should be left

Mark no more than one circle in any cofuran.

®

Because the answer sheet will be machine-
scored, you will receive credit only if the circles
are filled in correctly.

e Although not required, iL is suggested that you
" write Your answer in the boxes at the top of the
columns to help you fill in the circles accurately.

o Some problems may have inore than one correct
answer. In such cases, grid only one answer.

e No question has a negative answer.

s Mixed numbers such as 3%

3.5 o0 7/2. (If [3111712] is gridded, ltwﬂlbe

ZE T A 2

must be gridded as

not3=)

i_nterprcted as % ) 5

o Decimal Answers; If you obtain a decimal answer
with more digils than the grid can accommodate,
it may be either rounded or truncated, but it must
fill the entire grid. For example, if you obtain
an answer such as 0.6666..., you should record
your result as 666 or .667. A less accurate value
sueh as .66 or .67 will be scored as incorrect.

2
5 ave:

3

Accéptable ways to grid

~J

je

[CeeeeeEeE

9. Working at a constant rate, a water hose can fill empty
tank § in 4 minutes. Working at the same constant
rate, the hose can fill empty tank T in 30 minutes.

The capacity of tank T is how many times the capacity '
of tank ST

10. If g = 12 ~ b, what is the value of 4a when b =107

1-102 DY =
%

GO ONTO THE NEXT PAGE>
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11, The average (arithmetic mean) of five numbers is 80.

CBICYCLE-SALLS BONUS RATES

" If a sixth number, 80, is added to the group, what is the
average of the six numbers?

‘o

R B/
o R

* Note; Figure not drawn to scale.

12: In-the figure above, line ¢ biseoty ZABC, and the
~ measure of £ABC is 80°. What is the vaue of x?

-16-

61%, ————— e e o T

RL % SED P
P L s om e o r T
2 30

2 e Al e e cee e e e e

l A B

U S S S
E) 20 30 40 50 60 70 80 Y0 100
" Yearly Sales
(thousands of dollars)

13. A bicycle salesperson’s end-of-year bonus is

determined by yearly sales. The graph above
shows the relationship between the yearly sules
and the rate-of the bonus. The bonus is computed

. by multiplying the dollar amount of the yearly
sales by the corresponding rate. What is the bonus,
in dollars, for a salesperson whose yearly sales total
$65,000 7 (Disregard the $ sign when gridding your
answer.) ' IR '

b’é ;bNe ¢ éo]o

‘}, w:%x—l
1 .
o
~Li .
o

14. The line with equation y = —]2—.1‘ — 1 Is shown in the
figure above. Point P (not labeled) lies on tﬁe line

BT . . !
and has a positive y-coordinate that is less than 5

L T ——
What is one possible vatue of the x-coordinate of P 7

e\/@&\\ AV ,/-)/'2”\\
J-yen” 7

GO ONTO THE NEXT PAGE>
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13, Toa certain high school, there are three times as maay

band members as orchestra members and twice as
©wmany orchestra miembers as jazz choir members, If -

ne student can be envolled in more than one of the

three activities and there are 108 members in the

three activities, how :mny students are in t @

17. Tn quadsilateral ABCD above, AB = AD = AC =15
and AE = 12. What is the area of quadrilateral ABCD ?

16. Lot the function 4 be defified by (x) = 3x =5 for all
vatues of x. If k(5) = ¢, what is the value of i() ?

‘ ' - LN 18. The integer x is the sum of 3 different Eositirvc

R ' . 2 < ' integers, each less than 10. The integer y is the

},\ \(0 - f '  sumof3 different positive integers* eachless -
vk, . ‘ o

than 20 What is the 5mallest possible value Of
»)( 3\

o I ' émq\\ﬁéf Va bb

\aly? 5% /

{
\"\Jr\%*"\ = &%

STOP

Hi you fmish before time is called, you may check your work on this section only.
Do not turn to any other section in the tesl,
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SECTION 4

Time «— 25 minotes

24 Quesiions

Turn to Section 4 (page 5) of your answer sheet to answer the questions in this section.

Directions: For each question in thlS section, select the best answer from among the choices given and fill in the corresponding

cncle on the answer sheet.

anh st?ntence below has one or two blanks, each blank
indicating that something has been omitted. Beneath
the sentence are five words or sets-of words labeled A
through E. Choose the word or set of words that, when
inserted in the sentence, best fits the meamng of the

2. The teacher unabashedly used -------, flatterin
“students in an attempt to coax them fo ---ssx- research

projects for extra credit.

(A) subterfuge .. SUppress
(B) cogetion .. accept

sentence as a whole, : _ () innyendo . . synthesize
Example: - ) DY cajolery.. . undertake
- : : o (E) chicanery .. gl}rify
Hoping to ------- the dispute, negotiators proposed '
a compromise that they felt would be ------- to both 3. No - the case exists: in reaching a decision,
labor and management. the court is bound to break new legal ground.
(A) enforce ., useful - (&) jnterestin  €BY demand for
(B) end .. divisive ' ‘ precedent for (D) authentication of
(C) overcome . . unattractive - ' ' (E) record of - '
(D) extend .. satisfactory : ' ‘ S '
(E) resolve .. acceptable OICICIOK ] ' 4. Her actions did nothing but good, but since she
: - pexformed them out of self-interest, they could
R not be called -
1. Deer overbrowsing has dramatically reduced plant ' — .
....... in rnany eastern United States forests; the %ﬂ‘?’ hlf“lStl}; (B)(gacatfﬂzl £C} benign
surviving plant species are those that regrow quick ortutous punctiious
or that ecr fmd%:-’-- s q 4 .
A . 5, Mazx Roach is regarded as & «-—---- of modern jazz
(A) dommf nce . . edible drumming because he was one of the first attists to
B) 10_11g8\{1ty‘. . nutritious L el the melodic, rather than merely rhythmic,
diversity . . unpalatable o o possibilities of his instrument. g j
(D) mguality . . inaccessible ' - ne Yy eef
(B) digesse ., toxic ' (A) pioneer .. miaft < (Y J
B_I_Q_gcnitor .. exploit . and ¥
)} deyetet . . jettison

(D) chrgeicler . . explore
(E) forebear. .repgdk&e

'13 | | GO ON TO THE NEXT PAGE )
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Line

10

15

20

pair of related passages may also

The passages below are followed by questions based on their content; questions following & - o TS
/ of what is stated or implied in the

be based on the relationship between the paired passages. Answer the questions on the basis
passages and in any introductory material that may be provided. _ * S

nestions 6-9 ‘ ok ; S ) ' guthor’s attitude toward the value of
Q are based on the following passages. u_)n( Wi 7. InPassage2, the &t ) (line 18) is best described as

Lol

Oo m.\ A b e a X, “comedy consu!tan[f | l

Passage 1 , T Eu nn '\' : (AT fascination : : i -{’0 ‘\“ \I
R . ; (‘B')/: approval Soatle ol \

Bemg funny has no place in the workplace and can (X" ambivalence ' I
easily wreak havoc on an otherwise blossoming career. 5 skepticism : ' oV e
Of course, laughter is necessary in life. But if you. (E). hosIt)ility 1’ r g (f '
crack jokes and make snide remarks at work, you will . _ - 0
eventually not be taken seriously by others. You will 8. Tim Washgi- (lines 91-24, Passage 2) would most likely
be seén as someone who wastes time that could better ' respond to the author of Passage 1 by :
be spent discussing a project or an issue. Additionally, R - amorous employees can help to
many corporate-minded individuals do not have the algg;s ;hﬁ:ore'pl’o Juctive work environment

time to analyze comments with hidden meanings—— they pat cotporate executives spend more
tha

will take what you say as absolute and as an accurate 4B suggesting :
representation of your professionalism in the _ time analyzné humoro;nls cori]hm ent.s' £
workplace, ST ‘ : ; ,LQ)} agreeing that humeor can harm the careers o
: _ S ambitious corporate employees _
Passage 2 - _ R By challéngin‘f ihe assertion that laughter is
. - Aciel =4 . .
Are we now compelled, as a culture, to be comical, " necessaryin e ‘ .
i e 008 VRN, b g umot occurs regularly in
no matter the setting or the endeavor? And if so, what on : (‘Ej/ disagreeing that b & y

earth gave rise to this troubling idea? One possible culprit the workpJace
may be cotporate America, where being funny is now seen '

s a valuablé asset, Fortune 500 companies actually. doTe 9. Both authors
OUT DIg 1€¢5 10 comedy consultants who offer huinor '\t \ v ‘statements?
N

would agree wih which of the following

has gradually changed

- seminars and improvisational workshops —all in the name — : sulture
of improved productivity, But how exactly are funnier (A “;T;Ptliﬁi_b : :
employees better for busindss? According to Tim Washer, N ' (B) Consultants can help employees learn how
Ormer Impro isnow a comrmunications to succeed Pl-ofessiona_lly..
executive at a large corporation, humor helps foster tedm 1 y Humorous employees are usually popular.
building and, of course, “thinking outside the box.” 4 @ Humor is not appropriate in all situations,
. \} "Humor is not vaiued by corporate executives.
6. Lines 3-12(“Butif . . . workplace”) serve primarily to R o

&7 provide a creative solution to an ongoing problem
BT mock a particular way of behaving '
outline the consequences of particular actions
(D) suggest a more tolerant approach

(B) criticize a common practice

GO ONTO THE NEXT PAGE
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uestions 10-15 are b: lowing passage

: The following is adapted from a 1992 autobiography by

o

20

25

30

. ‘?5

40

fir W (€) contrast iwo diffefent cultires R ¢
escribe a mysterious set of circumstances
T walk through the center of Tunis and I'look into the T (£} argue that traveling alons is ultimately
eyes of the strangers I pass. The face of Africa here has s, . Tumrewarding
- Arab eyes. All the eyes are byow deeprich and dark e f e

%Wrrem that speak to meYput j a language I do not i1, The stateifnent in line 6 (“I am more . . . strang:eX ’ >y
‘understand, Every wOman snedts a glance; e an prim‘u'ily referstothe. e qd a¢ou n

’ lie;m tall an d I 4 1r1 } Egbglzgf;;aang;i my- aLﬁxm s m}z;bxhty to unde1s[tand the 1ocal lanﬂugoe

mard and thele is not another bard in this city. T wear ?,— ifference between the author’s appearance an
clothaTts - that of native Tunisians

" Thave noidea. It sn’t a]ways the getii ere that
is important. Sometimes it’s just the going,

v

Unauthorized copying or reusa of ‘
any part of this pags is illegal. i ] [

relate a traveler’s experience of feehng foreign
illustrate certain aspects of Tunisian culture

an Afgican American writer traveling to Afr JWM
m

nd artract attention: a bright

(C) changes that Africa will make in the author’s
red T- shlrt w1th long sleeves, baggy pants held up by A
blue suspenders; hiking boots that are heavy and du1able behavior ~ answer -t-b-‘é ves Fron

(D)  aimlessness of the author’s itinerary

rom a belt loo ; . i
E beltloop on my trouseLs (Ed—author’s search for someone from his own country

to wear. My clothes are ng
By journey’s end, T will Trotdbe
Aetrlic/awill -have-changed me in anno
perhaps in ways profound, perhaps only supelﬁc;
Perhaps I'will lose a few pounds, perhaps the auogance

12. Word repetition isused in lines 15-19 primarily to

TA)- stress the likelihood of an encounter -
JB- create a sense of continuous confusion

in my walk. Pethaps my walk, evelLIng-way-otles {) demonstrate a breadth of knowledge
AgsWill be a little Mote A Crican. ?ﬁ’ @emphasm the uncertainty of an outcome
dlfferent T am not one of these Africahs No illustrate a decmlon -making process
may not ever be. The color of my skin says that I could be
Algerian or Senegalese or from Chad, But the Tunisian 13. Iil lines 1420 (“By . different™), the author im mplies

eyes that watch me can see that I at least am not from
Tunisia. They know I am not one of them, but they
do not know where I come Trom.

- that, compared to himself, Africans. typically

‘ ~fAJ—ate less.conscious.of people’s. nationalities

The whole of Africa lies before me and 1 h¥e no plan, L %tl avel with less advance planmng
no itinerary. It might be better if I were searching for some @ alk more modestly
three-legged zebra, for at least I would know when 1 found = .5 (D) dress mote colorfully -
it. Without a plan, without a goal, a traveler is at the mercy - (E). speak more effusively--

of the road. Traveling overland is not like traveling on a
river. The river has a begmmng It has an end. The path,

though not straight, s d dd¥ot-so traveling overland. |,
0 ospsets*llke the possibilities and promises
are endless and vaned and 1rbmary

to po?”

“Go to Sousse,” he tells me. “Go to Sfax.”

Thave been feeling my way through town, searching
the brown eyes of Arabs for some sign of recognition.
Somewhere on this continent there is a man who looks
like me, When I find him, our hearts will shake hanucg»_"_’

o GO ONTO THE NEXT PAGE
R0 -
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14,. As presented in lines 30-34, the most significant

15, The old man’s question in lines 35-36 primarily

difference between traveling on a river and traveling

rland is that -
& ﬁ rivers follow an unambiguous path

By rivers offer a faster means of traveling '

(& rivertravel requires careful planning

@) overland travel requires no special equtpment
Ry overland travel can occur in a straight line "

serves to

A#) dramatize the Tonisians’ interest in the author
emphasize the Tunisians’ pride in, arid knowledge

| wa
-of, their culture
dllow the author to further emphdSlze his lack

of a clear destination o
enabie the author to express a judgment about
the character of Tunisians '
. (B highlight the author’s abﬂlty to converse with
people from d1fferent cultures

GO ONTO THE NEXT PAGE
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— Questions 16:24 are based on the following passage.

(-\ “In_order to gather pieces of the jigsaw puzzle (thai is,.

This passage is adapted from a 1983 book based on
interviews with women in the sciences,

Laboratory tesearch is at the heart of scientific !,ife;
scientists’ real work consists of testing oulideas that

come to them as they ponder the mysteries of the world

Line around them. A natural biclogist walks through a city park

5 oracross a suburban lawn and is half-consciously
wondering: Why two leaves instead of three? Why pink

flowers instead of white? Such rumination goes on without

end in a scientist’s mind, a continuous accompaniment to
the rhythm of daily life. Whatever a scientist is doing—
10 reading, cooking, talking, playing—science thoughts are

always there at the edge of the ygind. They are the way the
world is faken in; all that is seen is filtered through an ever-

present scientific musing.

How a would-be scientist decides on a discipline, settles
15 on a problem, and goes to work is often as much a matter of

: chancelas it is of tg t. One can as easily become
" a chemist or a neurcanatomist because of where one went
to school or whose influence one happened to come under
as because of a compelling early response to the logic of -
20 chemistry or the beauty of the human nervous system.
No matter. Once the discipline is established, the problem
hosen, and"the scientist immersed in the work, he or she

yopia 1s necessary in science because the grinding,
repetitive minuteness of daily laboratory work is so time-
consuming (for weeks, months, even years at a time) that,
often, Even tO‘I‘&l cerber the original impetus for the w
is'a psycho ogica the highest order. To stimulate

30 -the memory back Inte-existence with fair regularity, one
must believe in the fundamental importance of what one
is doing. Those who do are the most energetic, vital,
exciting, and excited of scientists.

Carol Steiner, a geneticist, comes up with a fine

35 metaphor for how to make a working proposition of
scientific mystery, “Tmagine,” she says, “that you have
a jigsaw puzzle with no picture printed on it. All you have
are pieces you haver’t a clue how to make sense of. The
pieces are your separate scientific observations. Here’s

40 an example of how you might try to get a handle on
the puzzle:

“We have a microorganism with a secretory structure
on one end. We know this structure is always on the same
place in the cell and that the position of this structure is

45 inherited. The question we want to answer is, how can
inherited information be translated into positional
information? Why in that one place and no place else?

Is the genetic code involved, and if so, how? The answer
will tell us how the genes work in concert with the rest of

50 the cell to put things where they belong.

s R AT i

become of the centrality and
urgenc of the icular work being o
25

M fundamental

pieces of information). we poke at the cell. We change it
alittde . . . . A specific mutation that altered the membrane
str ucture of the cell was found to turn off the synthesis
; e, This was a piecé of the jigsaw ;
¢ « Because we hadn’t a clue as z
to how this had happened or could happen.” Steiner
indicates that there will be many further questmns that w111
suggest expeﬂments \ Z
60 plctures on the piccas-e

the p1ctme wﬂl ultlmate! look like.”
: - Steiner's jigsaw puzzle is
the map of gene expressmn laid out clearty with all roads,
65 pathways, connecting signal points, and railway Junctlons
marked so that any tourist can find his or her way in this
beautiful country, which is confusing only when one is
wandering about in ignorance—as we all are now—with
a highly incomplete map.

16, The primary purpose of the passage is to convey
information about the

(A) occupational hazards encountered by laboratory
workers
(B problem-solving skills taught by chemists and
neuroanatomists ~Nar/ow o
A€y~ puzzling nature of everyday phenomena N r/" v
AP professional collaboration necessary for

iy g
geneticists n o /DY
thought processes distinctive to research scientists

17. Inline ] 1, the author characterizes “Laboratory
earch" as something that is

B ambitious
(€P challenging
(D¥ time-consuming

. Qo ""‘}

@) wellregarded _ Nek i ) o |
18, The author mdlcates that the process of “1um1nat10n
{line 7) is
LAy subjective QJ
@ vexatious N
: incessant 1
(D) innovative P
(E) futile : 0 l
o ) v i
W ‘X/ '
N o
W oo
& C
GO ONTO THE NEXT PAGE
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I 19 Inline 21, No-matter” dismisses as- irrelevant-the : 22. Inlines 32-33 (“Those . . . scientists’™), the author’s

means by which , feeling toward certain scientists is best described N
. . as one of ‘ '

science students learn regearch skills ’ .—}——-'

scientists choose research specialties ' © Afgastonishment .

laboratory reports exptain methodologies ‘ C(B})appreciation
1) scientific kiowledge is perceived by the public ¢ ~AGperplexity
(EX. researchers make use of laboratory workers o B, envy

’___'-_.....ﬁ .
.(.Eé._repmach

20. In line 29, “trick” most nearly means . : .
n Bay 3 LW 23. The passage implies that the discovery of the “specific
ZS Qc Come l : mutation” (ifie 53) was most significant for

(C) prank Eal " 57 demonstrating the random nature of scientific

(D) illusion . ' : . : breakthroughs . - 0

(E) peculiayity : . ~ {By“proving that multiple factors affect {- j 0d S

o , ) microorganisms S Ru {,,eb%:

21. The “memory” referred to in line 30 is that of the _ ' @ providing a clue to the solution of a 1esearch 0 n? S
quesuon

initial fascination with-a scientific goal

& justifying the expense ofa major research pxoject
) steps required to establish scientific truth : E_)_,g'u
(C). data collection process used in the experiment ( ealing & flaw in a scientific methodology

(D) day-to-day repetitiveness of the work

() relevant training in the academnic field : 24. Which best describes the function of Sﬁtsﬁuﬂﬁw
’ r?““mg In the acadetmic H . of her research in the overall developrthent of ' "

the passage? T e

] refutation of criticisms raised earlier in
. (& ' , ' the passage ’
%D 7 ¢ A recapitulation of pomts made in the opemng
. paragraph
. An observation that challenges previous ¢ 1ssemons
An example that expands upon preceding .
generalizations

) A digression from the author’s central ar: ument
&Q, 0‘ M‘ gress) g

N

STOP

it you finish before time is called, you may check your work on this section oniy.
Do not turn to any other section m the test.
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SECTION 5

Tinme — 25 minutes .
20 Questaons

Turn to Section 5 (page 5) of your answer shest to answer the questions in this sectlon, |

Dhirections: For this section, solve each problem’ and decide which is the best of the choices glven Fill in the (:01re'3p0ndmcr
circle on the answer sheet. You may use any available space for scratch work.

I ;
l.Thevse ot a calcu!@toi' is permitted. ' o
2. All numbers used are real nummbers, 7 _
- 3. Figures that accompany problems in this test are intended to provide informatton useful in solving the problems,
§ They are drawn as accurately as possible EXCEPT when it is stated in a specific problem that the tigure is not

, + drawn to scale. All figures lie in a plane unless otherwise indicated.
4, Unless otherwise specified, the doniain of any function j is clHSlll'llﬂd to be the set of all real numbers x for which
Sf(x)is a real number,

¢ : : b ' | | 4
| h B N 20 s
W . .
[l W El
1

30
: b ot
A= nr? 1 ¢ V3
C=2mr A= tw A== ibh - V=twh V== grih P S Y I Special Right Triangles

The number of degrees of arc in a circle is 360. _
The sum of the measures in degrees of the angles of a triangle is 180.

(" Reference Information | [

L If 9x + 3 = 30, 'what is the value of 3x 17 NUMBER OF DEMOCRATIC

(A) g = UNITED STATES SENATORS, 1993-2002
2 K= 3 19931904 |E
(D) ég ' : 1995.-1996
® 2 19971998 | [
19992000 | {7
2001-2002| [

§=10 senarors D = § senators Ez 1 senator
2. According to the pictogram above, how many more
Democratic senators were there in the years 19931994
fhan In the years 1999-2000 ?
(a) 2
B) 7

Q@ 8
12
&y 17

GO ONTG THE NEXT PAGE>
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5. Each of the designs bblOW is based on two identical
[T isosceles right triangles that meet at the center of a

\ cffete—tfeach circle has the gare Tadius, imwiich
?‘\ e A g one do the right tmnc-les have the greatest area?
\) ' : : o

co " 3 | )

[ —

3, In the figure above, O is the center of the circle and
Qiameters AC and BD are perpendicular. If the . ©
length of arc AB is 12, what is the length of
semicircle CDA ?

] ( 30 : * ' .

: {€) 36 : ®

(D) 48 '

: (B) 60

4, When printing a 1me of text, a printer begins 1 mch_

from the left edgc of the paper -and ends 1% mches

from the right edge. If the paper is 8 0] inches w1de,
how many inci}ésféan be used for printing each line?

(A) 6

GO ONTO THE NEXT PAGE>
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i ' : 3. Tnthe xy-plane, line £ has a slope of 2 and line m has
' a siopc of ——% Which of the following statemenss
st be true?
: : A). Lines ¢ and s are parallel. '
©, 1)1 R L?nes ¢ and m are perpendicular.
oo b ' ) Line £ is a horizontal line.
(DY) Line m is a vertical line.
1 (B} Line m passes through the point (0, 0)
CL-df + . 69
6 The graph above is a parabola For pomts {x, y) on , ;
- the graph, the maximum value of y is altained at what _ 7
valve of x 9 - : P
.- ' ' ' o
B0 T
‘ 2 : .
) 4 |
B 5 ' : ' i
. 9. Ifx, y, and z are inte ers, which of the following is
/ NOT.a possible value for 2x + 4y +62 7
(8) 4 |
ol - ' ‘ . B 3
. 7. Ifanumber x is increased by 2 and the result © 12 - . .
15 squared, the final value will be 49, Which of (DN 26
g following could be the value of x ? @29 O \ \ ,7/ .
(@) -5 2 |
® -7 - 2 ' - S
<) -5 r e 7 '
D) -3 o | 1y
@ -1 Db
s :
g
GO ONTO THE NEXT PAGE )
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i9. Points P, Q, R and § lieona im:,, in that order, so

that O 1is tne rmd]mmt of PR, R is the midpoint of

03, and PS = 18 If point X lies between O and R
and GX = 4, what is the length of XS 7 .-

(A 2 ;
(B) 4 /,
6 / N r

g
10

&

11, The number x is 4 more than 3 times the number .
. Whatis y interms of x 7

() Bx w4 - J

(B) 4x+3 3\/ X “ =
“o 3 . \L, :
- ”

(Dj x+3 911 - %

4 ' 2,

+4 _ e

® A | { K |

~

27-

12. In the figure above, each line segment represenls a
one-way road with t1ave1 permitted only in the dlrecnon
indicated by the arrow. How many different routes
from A to & that pass through F arepossible?

(A) Ore.
(B) Two
(C) Three
) Four
- (B) Seven

13. The digits 1, 2, 3, and 4 are to be arranged randomly
to make a positive four-digit integer. What is the
probability that the digits 1, 2, and 3 will be directly
next to each other, in that order, from left to right?

® %5 423 123 4 \.3 2&\2
K RRRCSS 24 3 V3R
© % 2\ 2 “

‘o 1 204 %

® 3 o')fé

2 a3 SRS
7\ w22
GO ONTOTHE NEXT PAGE>




Unauthorized copying or reuse of

[:j any part of this page is illegal.

1

16, The cost of a piece of a certain type of lumber is-
directly propmtmnai to its length. A picce of this

. Q

14, Inthe f10uie above P, Q and R are mldpomts of the
sides of the square as shown. If the total area of the
shaded regions is 9, what i li the length of a side of the

square? (bao B IVIC
OO

0 9. .
D) 32 P \.\ s

® 612 5_

15 The function f is defined by f (x) V“&]—"

What are all values of x f01 wh1ch f (x) is NOT
D il

defined? ‘

(A) x=0and x=2
(B x=0 and x/= 4

x=2and x =4
(D) x=2 and x =6
B x*4‘\ndx-6

i

5

-28-

Tumber that ts 8 feet fong costs $6.00. What is the
cost, in dollars, of a piece of this lumber that is
y yards long? (1 yard = 3 feet)

(A) »=12 ) |
| |4
® -"3y;—-"2 2 \‘k o, ﬁ %
(©) %'y e |
0, L¢
J e jel
: (E) 4 ‘*/ ";% (

\ UL o

— SRR

17. Prime nurebers k and n are each greater ‘
than 2, and they differ by 4. If there is no

prime number between k and n, what is
: tée Teast possible value of £ +n?
(A 8

(B) 10
©) 12

o
/)' \/\\

-

")

GO ONTOTHE NEXT_PAGE )
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18, If -1 <x<0 and O <y < 1, which of the following
- must be-true? '

20. The lengths of the Sldes of an isosceles tmn*vle
| are 20, n, and n ¥ n isaninteger, whatisthe

4,5 . . \ - -smallest possible perimeter of the triangle?
~l<xy<0 - <
xy Y‘ > 5— M @
II.'—1<3-C-<'0 : ) . 41
(H‘L")) - X< 1 . : 44 . ‘
R ‘ E) 60 e
II Oﬂly A L : & R LY .
-(-C-)-'IH only . ODW/ D »‘ {
@Y 1 and 11 only = "t -

B LM andli

19, At North High'Schc)ol, the ski club has 15 members and
the debate club has 12 members, If a total of 11 students

betong to botl clubs?

(A) 2
B) 7
8
5y 12 -
(B 16

belong to only one of the two clubs, how many studen;:ayx C
N

6

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.
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SECTIONT
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EY TR C

" Time — 25 minutes

335 Questions

J

Turn to Section 7 (page 6) of your answer shest to answer the guestions In this seciicn. "

Directions: For each question in this section, select the best answer from among the choices given and fill in the corresponding

circle on the answer sheet,

1
i
i

T

T

The following sentences test correctriess and effectiveness
of expression. Part of each sentence or the entire sentence
is underlined; beneath each sentence are five ways of
phrasing the underlined material. Choice A repeas the
original plirasing; the other four choices are different. If
you think the original phrasing produces a better sentence
than any of the alternatives, select choice A; if not, select
one of the other choices.; i

In making your selection, follow the requirements of
standard written English; that is, pay attention to grammar,
choice of words, sentence construction, and punctuation.
Your selection should result in the most effective

sentence—clear and precise, without awkwardness or
ambiguity. Py

EXAMPLE:

Laura Ingalls Wilder pﬁbiis.hed her first book
and she was sixty-five years old then.

(A) and she was sixty-five years old then

(B) when she was sixty-five

(C) at age sixty-five years old

(D} upon the reaching of sixty-five years

(B) at the time when she was sixty-five ;
OReOEE

events are reaching a stage
ritain‘and France all but

1. By the beginning of
that made war between
inevitable.

L[&yare reaching \9
(B) will reach \LC
(C) could reach e o

(D) having reached
had reached

-30-
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2. The chair of the school board announced a plan to

build two new elementary schools durin 7 an interview
- witha local news reporter.

(e The chair of the schoo! board announced a plan
. to'build two new elementary schools during
~ an interview with a local news reporter.

(Bf The chair of the school board announced that two
new elementary schools were planned to be built
during an interview with a local news reporter.

27~ The chair of the school board, during an interview
with a local news reporter, announced a plan
building two new elementary schools.
During an interview with a local news reporter,
the chair of the school board announcing
a plan to build two new elementary schools.

@ During an interview with a local news reporter,
the chair of the school board announced
a plan to build two new elementary schools.

3. The new politica] science curricnlum at some high
schools in Indif fencouraging teachers to usg cartoons
and newspaperélippings to provoke classroom debate

on contemporary issues: . A | Vo

¢ Y (b India, encouraging teachers to use cartoons and
=7 newspaper clippings to provoke
(B} -India, which encourages teachers to use cartoons
- and.newspaper clippings, and provokes
(C) India is encouraging teachers to nse cartoons and

newspaper clippings and then provoking
@ India eficourages teachers to use cartoons and
-newspaper clippings to provoke

(E) India so encourages teachers to use cartoons and
newspaper clippings as provoking

GO ON TO THE NEXT PAGE
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4. The mu; 1m£xpememe¢&§ceady4nqeas
“number of visitors in oné yt year, and analysts

cited the museum’s expansion, free admission,
and new family-oriented education center
‘ to'be-reasons for their appeal.

@ to be reasons for their
(B obea reason for their

LY as being reasons for their
as Teasons for its

as a reason for its

5. Critics often equate the po ular appeal of a work of
art with inferiority. forgetting that Shakespeare wrote -

his extraordinary plays primarily to please his
audience. =

.Cutlcs often equate, the popular appeal of a work
of art with inferiority, forgetting
,QB’) Critics often equate tlzj)pular appeal of a work

of art with inferiority, they-forget

LQ)/ Critics, who often eqdat€ the popular appeal of
a work of art with inferfority, for getling

Y Often equating the popular appeaﬁfﬁ@ork of

. - art with inferiority are critics, they forget

" (E)The popular appeal of a work of art often equated

" - by critics as being the same as inferiority, they

forget

6. The beaver is the largest rodent in N.orth America, it

[has adarge; ﬂat nearly hairless tail; webbed hind feet;
- and short front tegs with hairy claws,

(A) The beaver is the largest rodent in North
America, jt
(Y The beaver being the largest rodent in North
America, it /
'The beaver, the largest rodent i in North America,
which.
@ The largest rodent in North Amenca the beave1
The largest roden_tf_gl North America, the beaver

7. To persuade s parents to let him study abroad,
Kenneth described other students’ positive
experiences, explains how foreign study would benefit

his future career, and assured them that he could get
financial aid,

explains how foreign study would benefit his
future career, and assured
explained how foreign study would benefit his
TuTure career, @assm‘ed :
S&r explaining how fGreign study is beneficial to his
future?a?eer, and assures
,(DTUE explained how foreign study would benefit his
future career, and assuring
{5 in explaining how foreign study would benefit his
future career, and he assures

Leoseibet jex laine s

asd

d 3 AgC T e 1. dre TIOES -
important for their socul valu ¢ for their

ed ucatloml contributions.

than for their educational contributions
than in the contributions they- make
educationally -
(& rather than for the contnbutmns they make
educationally
(D) instead of for their educational contributions
~ (E) not the educational contributions they make

9. 'The vice president of the E:nited States is also
the president of the Senat, khe vice president is not
a sepator and does not vot¥ on Senate matters except
to break a tie,
A&7 the vice president is not
the vice president, who is not
% however, the vice president, not being
) although the vice president is not
AB¥ and the vice president, who is not

163, Although numbered afnong the most technicaﬂy @c()(c
- demanding pieces ever created for piano, Frédéric

C@ﬂrjo £Tompositions that emphasize nuance

_ and explesswe depth over mere technical display.

(J()' Frédéric Chopin w1ote composmons that
emphasize ‘

(BT Frédéric Chopin wrote composumns emphasizing

(& when Frédéric Chopm wrote composmons they
emphasized

(I), Frédéric Chopin’s composmons that emphasmed

@ Frédéric Chopin’s compositions emphasize

11. By painting them this afternoon, the walls would be
completely dry by tomorrow evenmg

A2 By painting them ‘
If they would have been painted ? g o e
Were they to be painted

£B¥ After painting them _ @e c

(By~They would be painted eQ‘ ¢

-4
ke
S ,_
A

e

u(& 4
31- GO ON TO THE NEXT PAGE
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The following suxténw% t2si yom abifity o uuwmfe
grammar and usage errérs. Fach sentence contains either
a single error or no error at ali. No'sentence containg more
than one ercor, The error, it there is one, is underdined -
and lettered, If the senteénce contains an error, select the
one underlined part that must be changed to make the
sentence correct; If the sentence is correct, select choice E.

In choosing atiswers, follow the Lequncnmnrs of standard
written English.

EX AMPLE:

The othé.r delegates zl;id him  immediately
A - B c

accepied the resolution drafted by the

D

. neutral states, No crr(;_r
OBOOE

]

12" Learning a foreign language is difficult not only -
A - T

because most languages contain an enorm

B
RZAEAR
of words a Qb%wuqe people nekd to use a language

often to become comfortable with it. Noerror
' ’ ' E .

13. Nellie Lutcher did not achieve success quickly: she

Al

., had been_giving live performances for over a decade
— .~ B SR VI - c

: - e
. before she w%’ fecord her first hit song. No errox.
R L E

Jed®
s

-30.

14,

13,

16.

17.

‘sundials,

Ken Alice N doye, who earned areputation as
A B

a caterer and then opened het own bakery, butks

learned to cook by preparing food for her o'wn;fa'mily.
D -
Mo ervor
E

The_introductjton of paraffin wax 'm_1830 :
A
] o :i
enabled candle makers {o produce candles L\F ie'} 3
B | Gave ¢

that burned more ¢lean than those made with
tallow or beeswax. No etror
L T

mo

-bu(V\”L

The Scu!ptures of Michael Kapetan function as
. K A

eyt time by casting shadows that show show

Oa/b f&"

_

ihe path of ¢ Sun. No error -

Itis now generally agreed that the 1'ings(0'f the
A ' B. ’

planet Saturn Jare composed of - several billion -
' C D

small ice particles. Eoi'fr1'oq

i

GO ON TO THE NEXT PAGE
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w, ¢ was so_popularin. the Colombian city 22. Despite the heavy rain, the television reporter,
i o - — A : A : .

/< : of Cali thug bgeqming the basis for the dance scene

C

that predominated there during the 1940s. No error
\ D _ E

- 19, The X chromosome was named ‘X’ because

A

researchers were baffled by its behavior, not because
of its reésémblance to the letter X. Noegror
C. . D ‘ '

R

20. A big vegetable salad is generally more nutritious

(18

A

- than a low-fat pasta dish, but either meal would be

B txc/ |
dehoicey :for the health-conscious eater. No error

21. Se'\renty-fi\'{_c' percent of the apples sold in

New York City come from the West Coastor |

overseas,’ even though New York State produces

B S
more than énough apples to meet the city’s needs.
C D '
No error -

o =33

23,

24.

25.

- D E

~were talking 'tﬁro,ughout the film and would- not 5\ \[

i

L
to wait; outside the hotel until the
C .

their meeting. No error

) &

: _\,\q}'_

The numberfof travelers) which reached the Americas,

by accident or design, well before Columbus is
Cb B o C
enormous, if we are to believe .E‘,Vi‘:‘.l'y claifn. No error
: D - E

The people sitting behind me in the movie theatex
A

B

keep their voice’ down even after being asked. .

todoso. No error
D - .E

Of the more than 50 entriesin the high school -
A B

science fair, Sarah’s project was declaved =
o5 |
more innovative by the panel of six judges.

<
No error ¢ r

E ’; o
5 ¥

1/

GO ONTO THE NEXT PAGE>
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26 Pelﬂ"lg§ the ]ngstﬂxn 1(“(‘]”1‘!”! feabine of the

) L ‘,--' .L' 5 .
AfrlCdl‘l eleplnnt s their amazingly versatile |
\‘_ ; : B D _"
trunk. No error : {o no J f\s
B ¢ '

' ._27-*' Laggsten Hughes may be best known for his poetry,
' '.‘-‘.: . ) -:‘&"

but included among his many published works
C N

8

+ ¢+ asizable collectionfof shoit stories. |No error

: T
28. In 1988 a Soviet icebreaking ship helped free three
‘ A

gray whales that had becoine trapped in the Arctic ice
B

(
Q 1 :
Q Q/ afte1 they}l%a_m into the coastmtels of Alaska
o _ e C ¥,
Vet Cas Yoope (€ 3 W

tofeed. No efror .o 4
D T E o\er C L ¥
a? ¥ %
- ¢*" o
29. The Bactrian camel is well adapted to the extreme

A
~ climate of i 1ts native Mongolia, having’ thick fur and
e ! ;B
underwool that keep§ it warm in winter and also

insulate against summer heat. Mo error .
E

-34-

' 3ani Tha £l H : . | frn Fin
AARATTREL G TONOWUTE PassagCrIs an Carly ararroian
essay. Some parts of the passage need to be rewritten.

Read the passage and select the best answers for the
questions that follow, Some questions are:about particular
sentences or pasts of sentences and ask you to improve
senlence structure or' word choice. Other questions ask you
to consider organization and development. In choosing
answers, follow the requirements of standard written
English.

“ turbines, are nsed primarily to generate electricity,

poses a significant challenge.

Questiens 30-35 refer to the following passage.

(1) Over 5,000 years ago, the early Egyptians used the
wind to power their sailing ships. (2) Windmills were
invented in Persia in the ninth century, where their first use
was to grind grains. (3) Windmills were later used to pump
water and run sawmills. (4) Today, windmills, or wind '

especially in Burope. (5) Another renewable energy souice
with many useful applications is solar power.

(6) In recent years, wind power has demonstrated many
advantages over conventional power sources, (7) Because
wind power is a renewable resource, it does not deplete
Barth’s natural resources,

(8) Wind power may seem to offera perfect soluuon o
the world’s increasing need for safe, clean energy sources,
(9) Many people worry that birds, particularly birds of
prey, may be harmed by wind turbines. (10) Some people
are also concerned that large wind farms may interrupt
birds’ migratory patterns, although they counter that
conventional electrical power lines pose much more
of a threat to birds. (11) Also, you have the fields of large
wind turbines that are typically placed on ridgelines in hilly
or mountainous regions, where many people feel that they
spoil the beauty of the natural ]andscape (12) Finally,
because wind is variable even in the windiest locations,
maintaining a steacy supply of wind-generated electricity

GO ONTOTHE NEXT PAGE>
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to place at the begmnmg of the passage—-before
_sentence 17

Iz People stopped building windmills when steam ,

power replaced wind power as an economical
. way of generating energy.

{B¥ Since ancient times, people have produced flour
by using stones to grind grain.

(€ Even in works of fiction, such as Don Quixote de
la Mancha, windmills appear.

(¥ Sailing ships operate on many of the same

™, Principles as windmills.

(F) ) The harnessing of the wind to generate power for

human-activity has ancient origins.

31. In context, which of the following is the best way to
deal with sentence 5 (reproduced below)™)

"+ Another renewable energy source with many useful
applications is solar power.

(A) Change “Another” to “An equally”.
(B) Chang'e “with” to “that is known to have”.
(C) Change “many useful” to “widespread practical”.

- @&ove it to the beginning of the next paragraph.

clete it from the passage.

32. In context, the second paragraph (sentences 6-7) would
be most improved by including

J{A)_a brief list of reasons why some people prefer
conventjonal power sources to wind power
(B)-information on how ancient wmdmllls differed
from modern ones
additional examples of advantages that wind
power has over conventional power
(D) alist of countries that depend on windmills to
produce energy
& an account of how windmills are construct_ed

__Wjﬁ.ﬁwhldmﬁhefellewmgvsenteneesmﬁdrbebestﬂ_ﬁmw_%_ln,come\arwh1cheﬂhefglloxmnvaethebebm$mu—

of the underlined portion of sentence 10 (reproduced
below) 7

Some people are also concerned that large wind farms
may interrupt birds’ migratory patterns, although they
 counter that conventional electrical power lines pose
’ much more of a threat to birds.

by they would hke to argue
(B)' their argument for wind power is
(C} the people who were for wind power argued
people in favor of wind power argue - .
(E) toargue in favor of wind power means

'34. In cotitext, which of the following is the bést version

of the underlined portion of sentence 11 (1ep1oduced
below) ? : \

Also, you have the fields of large wmd turbines that are
typically placed on ridgelines in hilly or mountainous
regions, where many people feel that they spoil the
beauty of the natural landscape.

(A) Fortunately, there are

{B) Granted, there are also. .
(@n addition, not everyone welcomes
(D} In this case, the exception is

(E) Altematively, this points to

35. In context, where should the following sentence be
placed? _
It presents problems of its own, however.

{45()/ Before sentence 2
(Br~Before sentence 4

Before sentence 8
Before sentence 9
(

Before sentence 12

STOP

if you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.
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SECTION 8

Pirme— 20 minuates
16 Questions

Turn to Section 8 (pags 7) of your answer sheet to answer the questions in this section.

Directions: For this section, solve each problem and decide which is the best of the choices given. Fill in the corresponding -
circle on the answer sheet. You may use any available space for scratch work.

. .
“k. The use of a calculator is permitted. -
2. Al nutnbers used are real numbers,
" 3. Figures that accompany problems in this test are intended 10 provide information useful in solving the p'mb]emls'.
é They.are drawn as accurately as possible EXCEPT when it is stated in a specific problem that the figure is not

“drawa to scale. All figuresilie in a plane unless otherwise indicated. _
4. Unless otherwige specified, the domain of any function f is assumed to be the set of all real numbers x for which
J) is a real number.

- h ]
: 1
£ . :
A=l i xv3

C=2nr A= Lw A= 2()(1 CV=fwh V=nrif ¢l=g? 4+ bt o Special Right Triaﬁglcs _

The number of degrees of arc in a circle is 360.
The sum of the measures in degrees of the angles of a triangle is 180.

(" Reference Information ) {

2. The sum of two numbers is 17. If x is one of the
numbers, what is the other number in terms of x ?

Ay x+17
B) x=17
€ 17=x-
O 17x
1. In the figure above, ZABC is a right angle. What is 17

the value of x? ' B =

{(A) 18

(B) 30 .

) 36 >

D) 54

(E) 72

GO ONTO THE NEXT PAGE
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5. For positive integeérs a and &, let o Wb be definecl by

3. Inthe figure above, the circle with-center S is tangent

to the x- and y-axes at pc;ints R and P, respectively.

If QR =14, what are > the coordinates of point P ?

@A) (14, 0)
®) (7,0)
© (7.14)
Dy (0,14)
® on

_ UNITED STATES MINIMUM WAGE

_ _ 1977-1996

5,501

5.00 1 \ e
450 — :
3.50 ~

oY S

200 t——

Wage (dollars per hour)

—t } +—t—t—t T —— +—+—+
1977 19382 1987 1992 1996
Year

4. The graph above shows the minimum wage in the
United States at the end of each year from 1977 to
1996. Of the foliowing two-yea , Which

shows the greatest increase, in dollars pex h()lll" of
the minimum wage?

(A) 1977-1979
W0
{(B) 1980-1982 -
19831985
19891991

B 1993 -1905

37

aBb = o Which of the foliowing is equal to 125 7
(A) 3HS
® sm g
© sas 57
(D) 3HE25 o
() 2583

GO ONTO THE NEXT PAGE>
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6. A colony of bacteria grows so that ¢ days after the

LOWEST-RRICED AIRFARES

FROM BALTIMORE

start of an experiment, the number of bacteria is
. .

B .- ’ . .
n*2%, where n is the number of bacteria at the stast

) i - .
of the experiment. If there are 10,000 bacteria 6 days

TF———.——— .
after the experiment’s start, what is the value of n ?

@ 1,250 , 3 _ 0,0%
(BY 1,667 = 9
(©) 2,500 r\ PR |
(D) 3333 ’ 000
(E) 5_,000 p 10 J

g

>
1}

7. The perimeter of a triangle with sides of length 10,
6,. aud x is equal to the perimeter of anequilateral
triangle with sides of length 7. What is the value .-

of x7?
“3 7‘3,’;\

)

6
(B) ? | _f@ ¥

-38-

Airfare (doilars)
>
o

—
>
<
&

£

=
N

[

< %y O By L L L

Distance (miles)

. The scétterplot above shows airfares in relation to-

the flight distance, in miles, for the ten lowest-priced
aitfares from Baltimore. Based on the scatterplot, -

ich of the following staternents are true?.
) 80% of the ten airfares were for distances of less

than 1,000 miles.
~The highest-priced of the ten airfares was for
- the greatest distance. A :
- Jl~The slope, in dollats per mile, of the line of
best fit for the data is negative.

® T only
G2l only,
T and Il only

(D) [ and I only
JBr 1,11, and IIT D

GO ON TO THE NEXT PAGE
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A D

9 The five squarev. in the figure above have sides of
lengths 1,3, 5, 7, and 9, respectively. What is the sum
of the areas of the shaded regions?

(A) o4 .

B) 52 . : \
< (D) 36 '

By 32 0 L. .9

g\ -

10. If the'value of a certain building increased from
¢ $1.6 million to $2.0 million, what was the percent
1nc1eas§ m the value?

(A) 4%
(B 3%
C) 16%

25%
(E) 80%

-39~

'

11, Inthe cubé above, diagonals of three faces form
AAGC. What is the measure of ZAGC 7 -

(A)
(B)

(D)
(E)

30°
45°
60°
90°

120°

w\‘
g L
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12. If 2(x + 5)(x - 5) = a, whai does x° - 23

T14. If 3,'c)+ 2y =T and 2y -3z =28, then x + ¢z =

equal in terms of «? -A
@) & ' T _ ?,gy

®B) Va2 g\&i . &
€) 2a 2 76 ,/
o \[ . S %

®

! .

13. For their graduation ceremony, the 100 students in
Arlene’s senior class were each assigned a ditferent
whole number from 1 to 100. Arlene and her classmates
entered the auditorium in munerical order, and every

* 20 students filled a different row, maintaining that
order. There were aisles on both ends of each row,
and only one student sat between Arlene and the aisle.
Which of the following CANNOT be Arlene’s nomber?

L4719
4By 42
59
69 20
) 82 l il
o
Z\ Lo
\ -

-~ o

-40-

(&) -1
_1

3

1

© 3
o 1
E 3
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15. When the positive integers w and n are divided by 6, : 6x+3za
indm3iubéland;LqﬁspecuyeguAMhaLm4heﬁwarh N : . .
remainder when the product wi is divided by 6 9 15. If the inequality above is true for the constgpg
which of the following could be a value o
@ o | - e
B 1 @E 4 & 3 7
-2 . e s 6 Z-‘-g-"—-'q*—: ihi s
(D 3 . _ . Uﬁﬁ

=S - & R A I
.(E).s G’\Jesjcmcw By 1 6 b | q.i._-

o
.

R
—

STOP

If you finish before time is called, you may checik your work on this section only.
Do not turn to any other section in the test,

-41-
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SECTION9

Time — 20 minutes
18 Questions

b

% _.Turn to Section 9"(p'agek7)'of your answer sheet to answer the questions in this section,

\ - A

D]rections For each questlon in this section, select the best answer from among ttie choices given and fill in the corresponding
circle on the answer sheet, S :

- 3. Ina grievous example of -----—- behavior, the consul-
Each sentence
below has one or two blanks, each blank tants repeatedly managed to dupe the team of scientists
indicating that something has been omitted. Beneath : by presenting fabricated data—— !_ ;
the sentence are five words or sets of words labeled A’ P -_— P
through E. Choose the word or set of words that, when . & incompetent {8) COM@HUOUS (= expansive
inserted in the sentence, best fits the meaning of the 4BPY abstruse fraudulent ;
sentence as a whole, - S o
E . . _ 4, E’iephants have a sense of smell that is remarkably
xample.
------- : they can reportedly smell water up to several
Hoping t9 ------- the dispute, negotiators proposed ' miles away, U
a compromise that, they felt would be «------ to both , I 60“
labor and managerent, (der tacit @aeute .Q@j/awma_tlc

sonorous  (E)} ubiquitous -
(A} enforce . . useful :

(B) end .. divisive 5

. -Some environmentalists fear that the practices contrib-
(C) overcome . . ynattractive

uting to global warming ave so -------in industrialized
(D) extend . . satisfactory . nations that there are no simple ways 1.}~ their
(E) resolve ., acceptable QOO ) effects. ’
established . . m’itiga'te
1. Lan Cao describes her novel Monkey Bridge as : % Lae;pﬁ;};;xa}:ﬁzigte
autoblographical “ig mood rather than fact.” v .
claunmg it depicts ------- B 1T q—— Euth % ephem.eral .. pf;}]hate ;
L ' pervasive . . enhguee o
[#:%% poetlc . M ("&b- 4 \/ )m

(B co;xﬁo . romanticized

v
: ?@D? 6. The testimony of the witness, meant to ~~---— the
intimate . . personal 7 6 -
(E

: defense of the man accused of theft, actually
emotional . |, literal strengthened the case of his accusers. "' i

objective . ., actual : o p—— - i '
. J : 4f5) appease 8] deprecate  £€ enlighten
2. Because Alejandra and Raina have never allowed their (D) initiate @olster
- differences of opinion to come between them, their
friendship vemaing ~------ .

&) conditional exciting <€) distant
& secretive FEN\steadfast :

-42-
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A A

The two passages below are followed b

¥ questions based on their content and on the relationship between the two passages.

‘provided. o

Answer thequestions oi the basis of

: Line

10

15

20

25

30

35

what 15 stated or implied in the passages and in any introductory material-that may be

Questions 7-18 are based on the following passages.

“In Passage 1, an experienced fiction wri Dvid, 4

A

advice to her dauehfer. a beginning author. In Passage'2,

a literarycritic analyzes some attitudes among iwentieth-
century novelists, .

Passage 1 W(;'-}'{e r -’~d {,\lauj)vw
Do not try to puzzle your reader unnecessa'ﬁij‘= a |
puzzled reader is an antagonistic reader. Do not ex-f)'éct

redade 53 Why a character doessomething or how
it happens that some remark is made. It may be that you

“want readers to stop and wonder for a minute 3 if so make

it perfectly clear that everything is going to be all right
later oi. TFyou want reaamhwmm%’d‘ﬁm{g‘ggﬁg
question, and go through a paxt of your story with a kind
of expectancy, let one of your characters do something
outrageous—turn, perhaps, and throw an apple core
through an open window, hen be sure.-that before

- your story is finished you explain in some manner that

inside the open window lives the charactér’s. great-uncle,
who keeps a monkey who devours apple cores and caiches
them on the fly as they come through the window. Readers

bring with them 4 great body of knowledge which
D you
mayhey must rely-on you for all information

- necessaty Lo the understanding of ThiS story which, after all,

yOu have written,, -
Someone—1 forget who—once referred to the easier

sections of his fiction as “benches for the reader to sit down
. upon,” meaning, of course, that the poor réaders who had

struggled throngh the complex maze of ideas for several
pages could rest gratefully at last oni a simple clear
paragraph. Provide your redders with such assistance,
IFyotPwould like them 1o rest for a minute so you can
sneak up behind them and stun them with something

new, let them have a little peaceful description,_or perhaps

“a little something fufiny © stle over, or a little moment

of superiority ™I you want them o stop dead and think,

- do something that will make them stop dead: uge a

wholly inappropridte word or a startling phrase-—

- “pretty as a skunk”—or an odd juxtaposition; “Her .
hair was curly and red and she had great big feet.” Give

them something to worry about: “Although the bank

had stood on that comner for fifty years, it had never

been robbed.” Qr something to figure out: “If John had
not had all that tooth trouble, there would nevey have been
any question about the rabbits:” In all this, though, don’
let the readers stop for more than a second or they might.
getaway. Caich them fast with yOUF TEXTSenEncs and

send them reeling along.

' D'onGvL pe +eo G“;’”P‘Q

50

55

60

no thetight of their readers. They write for themselves

“and the reader is beside the point. “Is the writer under
.. any obligation to the reader?” an interviewer once
asked a Nobel Prize-winning novelist. “I don't care

about John Doe’s opinion on my or anyone eIs_e’s work,” -
came the answer. “Mine is the standdrd which has to be -

met.” . :

In recent years it is really only in handbooks about how -

to write best sellers that we find very much open advice to

 the'author to think of readers and write accordingly. The

predominant fashion among serio 1s has beento -
considet any recognizable concern for the readeras a
comuiercial blemish on the otherwise Spotless face o

ait. If someone s rade enough to’ask who the sgrjous

 wriiers are, the answer is easy: they are those-whom

one could never suspect of writing with their readers

Adnmind, T :

M write, Let the reader learn to read”—such a

- motto, adopted openly by one widely read author,

* might serve as the credo for many twentieth-century

“ novelists. “There is easy reading. And there is literature,”
65

the author explained. “The novelist depends upon that’
relatively small dudience which brings to réading a frame
of reference, a sophistication, a level of understanding not

" lower than the novelist’s own . . . I resist, as true novelists

70

73

A

43-

do, the injunction (usually a wortied editor's) to be clearer,
to be edsier, to explain, if T feél that the request is for the
convenience of the reader at the expense of the craft.”

- “Twrite. Let the reader learn to réad.” Authors who
male this their motto, in-the name of artistic integrity,

can hardly be expected to tolerate the attitudes of critically

“acclaimed nineteenth-century novelists, who believed that

their fist duty was to-try to seem “pledsant; and that to do’
so they must render their meanings “without an effort to the

reader.” : :

7. The author of Passage |.assumes that a successful
auhor must - - N '
(A)Janticipate the reader’s responsés

challengg the reader’s beliefs - _
«r adﬁiowledge the reader’s sophistication
T ignore the reader’s shortcomings
share the reader’s convictions
- ‘

GO ONTO THE NEXT PAGE
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8. Inline 17, “assume” most nearly means

(A} receive
(B) seize
(C) take responsibility for b

LAY

A\

(73

o ‘pretend to have -BG\_ ,
Vs take for granted
9. The description of the “readers” (line 22)I'sugcrésts
that the author of Passage 1 views them with
' indifference v -t
sympathy 4s
puzzlement e pel
sk ; e’
&B¥ impatience +
o disdain fo
"10. In line 43, “True” most nearly means
(A) fair.. ' ~
(B) loyal - . .
(C) accurate \\r
. (1) honest 6q“
genuine
1.

The anthor of Passage 1 would most likely give which
response to the question in lines 45-46, Passage 2
("Is .. .reader™) ? -

' W es, the writer is obligated to present an uplifiing
p——

image of the world.
@Yeé The Writer mmust provide a narrative that holds
the reader’s interest.

(C) Yes, the writer should give highest priority to the

reader’s regquests.
AT DT The writer must protect the artistic vision that

Shﬁpes the novel.
(B Mer; the writer should focus on the concerns of the
critics and the prize givers.

12. In lines 53-57 (“The predominant . . . art™), the author
of Passage 2 indicates that serious writers

Melcome the widespread pbpularity of their books

BT articulate the values of the larger society
()~ are overly concerned with the physical appearance
of their books
(D are more responsive to their readers thau their
predecessors were
believe that worrying about readers’ needs would
compromise their work

o}

13. Compared to the “serious writers” in Passage 2
Wﬁhlmmhm*cf?assagﬁwout&probz

S more concerned about plotectmn the 4 ﬂrtxsqu/
integrity of a literary work

JZY more likely to write for highty skii ed readers

@ more likely to resist an editor’s recommendations

g

less worried about the negative effects of
commercial considerations
(B) less willing to give advice to other writers

14. The tone of the statement in lines 61 and 72
“I wiile . . . read”) is best described as .

A)) arrogant
@ magnanimous

. @) dejected . .
(D) diffident (5€
(5 apologetic

(0(!5./-

i5. The author mentloned in line 62, Passage 2,
would most likely consider “benches” (line 21,
Passage 1) to be

(& considerate acknowledgments of readers’
exhaustion . . -!
pleasant intexrvals in otherwise somber fexts
t&r unfortunate accidents due to careless writing -
% inappropriate concessions to the needs of
readers '
(E) troubling examples of an ed:tm S tyr,anmcal
powm : :
16. The statements in line 64 (“There . . . literature’)
are primarily intended to . '
¢ challenge the terms of a formal argument
(B)) establish a significant i TR oo™
2 describe a new and ugusual concept
(D) proposean 1mportant change -

j,)/expless a fcchng of regret
o

GO ONTO THE NEXT PAGE
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7. The opinions expressed by the author of Passage 1 are
‘;Lszmllaktﬁheﬁmmnm’cprmed
by which of the following?

-l

@9 “a Nobel Prize- wmmng novelist” (line 4”7)

(gc sertous writers” (line 54)
@) “one widely read author™ (tine 62)
Dy Authors” (line 72) -

' @ ‘nineteenth- centuly novehsts” (Ime 75)

|
' D \'ye 3(\(”9

N
N
oY
N

I you finish before time is called!, you may check your work on this section only.
Do net turn to any other section in the test.
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{A) confidential

(B) reflective

(C) ‘somber .
didactic

(E) hostile e o 3 6\\"0
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SECTION 10

Time -~ 10 minutes
"14 Questions

Turn to Section 10 {page 7) of yeur answer sheei to answer the queshens in this section.

n

.| Directions: For each question in this section, select the,- best

circle on the answer sheet.

answer from among the choices given and fill in the corresponding

\ i

The' foliowmo sentenc;es test correctness and effectiveness
of expression. Part of each sentence or the entire sentence

| 1s underlined; beneath each Sentence are five ways of

phrasmg the underlined material. Choice A repeats the
original phrasing; the other four choicés are different. If

,you think the original phrasing [produces a better sentence

than any of the alternatives, select choice A; if not, select
ong of the other ch01ces

in makmg your selecnon follow the requirements of
standard written English; that is, pay attention to grammar,
choice of wor ds, sentence construction, and punctuation.
Your selection should result in the most effective

sentence—clear and precise, without awkwardness or
ambiguity.

EXAMPLE:

Laura Ingalls Wilder published her first book
and she was sixty-five years old then.

(A) and she was sixty-five years old then
(B) when she was sixty-five

(C) at'age sixty- five yearsold

(D) upon the reaching of sixty-five years
(B) at the time when she was sixty-five

@@@-@@

1. Inthe early 1900s, the busmessman Abiko Kyutalo
envisioned a J apanese American community rooted
in agriculture and encouraged Japanese immigrants
to seek success through farming.

‘ to seck success

(B) that success was sought
(C) seek success

(D) they sought success

(F) they were seeking success

-46-

2. Mary Wollstonecraft’'s A Vindicatjon of the Rights of
Woman, published in 1792, bew/ one of the first texts
that addresses women's right$. '

: (é')/published in 1792, being one of the first texts
" that addresses
(B) published in }792, _was one of the fnst fexts -
to address ' ol
(C) pubhshed in 1792 as one of the first texts
that addiess /.
(D) it was published in 1792 one of the fjrst texts
to address .
(E) one of the first texts, pubhshed in 1792
that addresses

3. In 1882 there were only seven female doctors

practicing in France, when in 1903 the number
rising to 95,

(A) when in 1903 the number rising

(B) but by 1903 the number had risen

(C) its number rising in 1903

(D) there in 1903 the number rose

(E) however, in 1903 when the number had risen

4. Frustrated and bored by rambling lectures,

Professor Moore's introductory philosophy course
‘was dropped by many students before the middle of
" the semester,

(A) Professor Moore's introductory philosophy course
was dropped by many students

(B) Professor Moore's introductory philosophy course -
would be dropped by many siudents

(C) Professor Moore's introductory philosophy
course, having been dropped by many students,

(D) many students dropping Professor Moore’s
introductory philosophy course

(E) many students dropped Professor Moore's
introductory philosophy course

GO ONTO THE NEXT PAGE ):
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5.

A promisin food soure
protem needs no fertilizer,

.
in which it 3, @

enriches the soil in which it grows ?a’
(B) " enriching the soil where they grow

(C) where they grow they enrich the soil
(D) the soil is enriched where they grow it

even ennches the soil

(a\\‘/\‘gw

~ (B) the soil in which it grows is enriched, too

.. The dragonfly, like the closely related damselfly,

- reproduces 'the?sﬁﬁes by laying eggs in freshwater
and then fiercely defends the eggs from predators.

: o
L reproduces thempstlves j { e é Jndo g

&7 reproduce them ves w b2
(C) are reproduced \’ W o (
R 5

( reproducmg
" fEY\reproduces

Some scientists believe that inentally stimiﬁating
activities may increase the number of brain cells
available to replace if any are lost through agmU

(A) available to;eplﬁe if any
@ available to replace any that

(C) available, which replaces any that
(D) available, replacm if any
(E)- avaﬂablﬁey replace any which

. The rescuers reached the skiers, found them apparently

unharmed but they nevertheless were takén to the
hOSpltal for observation.

(£oskiers, found them apparently unharmed but they

‘ nevertheless were taken TASS v o

(B) skiers, finding them apparently unharmed, and
nevertheless taking them

. skiers, who were found apparently unharmed,
nevertheless taking them

skiers and found them apparently unharmed but
nevertheless took them ackive

(E) skiers, apparently found unharmed, but
nevertheless were taken

Yoo

FDO (\A' :
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ich 'M*SugaLalthﬂlwoaL&ubmuuc&udemuous%

brands of sugar-free chewing gum-—~do not ciuse
‘tooth decay, hgwever, the contam calories, L\ LIV

noeds e
)

Mecay owever, they contam calories

ABY decaffthey contain calories though

¢ decay; although they contain calories:.
et contain calories in them

deca i ies irl the
deLay ut do contain calories

10, Captive-bred whooping cranes have no parents to teach
them migratory habjt% )his fact explaining why they
must be led on their fixdt migration by humans flying
microlight aircraft.

(&4 this fact explaining why they
By this means that they

{Cy this is why they
QY so they

"
(B) they EJ o | \:f sa«n’("'“f “ \Demuwf] |
11. Unlike other predators, which are bemg studied (S (*C
because their populations are declining, ecologists .
are studying coyvotes becanse the coyote population
~ is growing in suburban areas.

L&Y ecologists are studying coyotes
B ecologists have been studying coyotes

ecologists, who are studying coyotes
@ coyotes are being studied by ecologists -
(E) coyotes, being studied by ecologists
apur——t
12. Increased competition in this market will certainly
lower prices, which some economists are warning
that it may also lower the quality of service, -

SJA3—which some economists arning
:if however, some economists have warned

but some economists warn —_—
although some economists warning
(E) and some economists who warn
""'\
t
o j ( C

QL con

(@QJ;re'g
Fra 9']' f@

UUDF<(-
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13. One of the earliest of the ancient Graek 'wﬁte.*k; of love

~ poetry, Sappho has had such a profound influence on
- dater lyric poets that she came to be known as “the
tenth Muse,” -

,(/ff) has had such a profound mﬂuencc on -
{B) Tias had so profound an influence on.
153 so profoundly influenced °
-
50 profoundly influenced
profoundly influenced

$T@E’3

e en®
e )

H The agency repofis that Uy Tigorously nfnee n".’ St

lwui.ltlom mdmlnfﬂ poltiation has been suceesstully

' l-.dilu,(l to acceplable levels.

(A) mdustual pollution has been successfully mluu,d
to ucceptable levels
(B) acceptable levels of industrial potlut;on have been
‘ success’rully reduced
(C) a reduction of industria) pellution to ducepmble
levels has succeeded
(I3} they have succeeded-to reduce industrial pol]uuon
to acgeptable levels
1t has stcceeded in reducing industrial pollutmn
1) '1ccept'1b1u levels

~
g —— l'\’

{

lf vou finish before tlme is cailed you may check your work on this section only
Do no‘t turn to any other section in the test.
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Correct Answers and Difficulty Levels
- Form Codes AEGA, BWGA, CFGA

; Section 2 . Bection 4 Section 9
COR. DIvg, COR, IHIYP, COR, Dip8, COR, DIFe. COR. DIFF. COR, DIFF.
ANS. Lay, ANS, L&Y, AMS. LEV. ANS., LEY. ANS. LEV. ANS. LEV.
L. D 3 14. C 5 . C 3 13. C 3. LoD o2y 10, E -2
2. C 3. 15. E 3 2. D 3 4. A 2 2. E 3 1. B 2
3 C 3 16, B 2 3¢ 3 1. C 1 3. E 3 2. E 2
4. C 3 17. A i 4, A ¢ 16. E 3 4. B 3 13, b 3
3. A 4 18. D 2 5. B 5 7. A 3 5. A 4 14, "A 2
6. E 4 19. A 4 6. C 2 18, C 4 . E 5 15. D 3
7. D 5 0. A 1 7. D 4 19. B 3 7. A 3 6. B 2
8 C & 21, A 1 5. A 1 20.- B 4 8. B 3 17. E 3
9. B -3 222 D .2 D 3 25 A 3 9. B 2 8. D .5
0. E 4 23.. E 3 10. A 2 22, B 3 -
1.7 A 3 24, E 5 1. - B 1 23. C 4
2.8 5 25. A2 12. b1 2. E 4
13. C 1
. Number correat Number correct . - - Number correct
Number incorrect Number incorrect ) Number incorrect

Section 3 Section 5 Section 8
Muitiple-Choice .7 Student-Produced - "~ COX DIFR. .- COR. DIFF, COR. DITF. COML. DITE.
Questions . Response Questions . : ANS. LEV. ANS. LEV, ANS. LEV. - * ANS. LEV.
COR. DIFF, O COR. DIz, 1. ¢ 1 11, ¢ 4 1. A I 9. C 3
ANS. LEV, ANS, LEV. 2. D 1 2. D 3 2. .C 2 10. D 3
. B 1 9. 15/20r75 1 3. A 1 3. A 3 3. E 2 1. ¢ 3
2.C 2 10. 8 : 2 4. B 2 4. B 4. 4. D 1 12. & 3
3 B 2 11. 8¢ 2 5 D 1 5. D 4 5 B . 2 13, D 3
4. A '3 12, 140 2 6 C 1 6. D 4 6. A 3 4. . B 4
5 B 2 13. 3250 ) 7ML 7. B 4. 7. C 2 5. A 4
6 B 2 M, 2ex<3 3 5 B 3 18. A 4 8. A 2 16, A 4
7..C .4 15.. 72 3 9 E 3 19. C 5 :
8 A 5 CTi6 25 4 0. D 3 200 €5
170 135 4 ;
18. 1/9or:111 4
MNumber correct Number correct Number correct Number correct
(9-18)
Number incotrect Number incorrect ' Number incorrect .

Section 7 ' . Section 10 -

COR. DIFF, COR. DIFF. COR, DIFR. COR. DIFF. COR. DIFF. COR. DIFF. COR. DIFE,
ANS. LEV, ANS. LEV, ANS. LBV, ANS, LEV.: - ANS. LEV. ANS. LEV.. ANS. LEV,
L E 1. - o E 4 9. % 2 28. C 5 1. A 1 . 6. B 9. 1. b 4
2. B 1 il 5" 200 b .3 29, C.' 5 2. B 1 7B 3 2. ¢ 3
3. D 1 12.¢ 1 21. B 2 30. E 2 3. B 1 8. D 3 13 D 5
4. D 3 13 D 1. 2. B 3 al. B3 4 E 1 9. E 3 4. E 5
5 A 3 4. C 1 23. A 3 32. C 2 5. A 1 0. D . 3.

6 D 3 5. ¢ 12 2. C 3 23. D 3

7.8 3 16. B 2 25. D 3 3. ¢ 3
& A 23 7. £ 1 26. C 4 a5. D 3
9. D 3 15. B 2 27. D 4

Number correct Number correct

Number incoirect Number incorrect

NOTE: Difficulty leyels are estimaces of question difficulty for a reference group of college-bound seniors.
Ditficuley levels range from 1 (easiest) o 5 (hardest),
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The Scoring Process |

1. Scanning. Your answer sheet is scanned electronically, and the circle you filled in for each question
is recorded in a computer file, ' '

i

2. Scoring, The computer compares the circle filled in for cach question with the correct response.

Each correct answer receives one point,
Omitted questions do not count toward your score.

One-fourth of a point is subtracted for each wrong answer to multiplé-choice questions. No
points are subtracted for wrong answers to the student-produced response mathematics questions.

Example:

The critical reading section, for example, has 67 questions. If you have 37 right, 28 wrong, and
2 omitted, the resulting raw score of 30 is determined as follows:

3728 (1/14)=37-7=30

* Ifthe raw score is a fractional number, it is rounded to the nearest whole number. For example,

@ Taw score 0f 36.25 is rounded to 36, the nearest whole number. A raw score of 36.50 is rounded
Upward to 37, '

Essay scoring. Using the scoring guide shown on page 51, specially trained high school and college
teachers score the essay. Each essay is read independently by two readers who rate it on a scale of ‘
1to 6. (If the two scores differ by more than one point, a third reader scores the essay.) The two
readers’ scores are added together, and the essay subscore is reported on a scale of 2 to 12. The essay

section is worth approximately 30 percent of the raw score, and the multiple-choice writing section
counts for approximately 70 percent. ' '

4, Converting raw scores to scaled scores. Raw scores are then placed on the scale of 200-800
through a process that adjusts scores to account for minor differences in difficulty among different
editions of the test. This process, known as equating, is performed so that a student’s reported
score is not affected by the edition of the test taken or by the abilities of the group with whom the -

- student takes the test. As a result of placing SAT scores on the College Board scale, scores earned by
students at different times can be compared. For example, an SAT mathematics score of 400 on a test
taken at one administration indicates the same level of developed mathematics ability as a 400 score
obtained on a different edition of the test taken at another time. : ' '
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SAT Essay Seoring Guide

f‘;sconv OF 5

Aressay in this cateﬂmy demonstrates
“tlear ﬂﬂd LO?TSISfEI’lf mc;gter}: although

SC.ORE 01' 5

An essay in thlS celtegory demo St
reasonably consistert mast_' 5

;‘odequate'masterx although it w111

essay i thls category'demonht

;st may have 3 few miney errors: A
=typical essay' '

effecttvely and mslghtfully deveiops
a-point of view on the jssue-and -

emonstrates outstq ding. c‘. itical
mkmg,

SCORE, OF 3
An essay in this category demonstrates

developing mastery, and is marked by
'ONE OR MORE of the followmg

weakneqses

@ develops a pcnnt of view on the

- issue, demonstratmg some critical -
thmkmg,, but may do so -

“inconsistently or uge inadequate

. examples, reasons, or other
evidence to support its position .

@ is limited in its organization or
* focus, or may demonsttate some
lapses in coherence ar progressmn
of ideas -

L dlsplays developlng facility in the
- use of language, but sometimes uses
weak vocabulary or mappropnate
“word choice

@ Jacks variety or demonstrates
- problems in sentence structure

# contains an accumuylation of errors

In gramimar, usage, and mechanics

SCORE OF 2

* An essay in this category demonstrates

listle mastery, and is flawed by ONE

OR MORE of the fo]lowmg '

weaknesses: . .

"%develops a point of view on' the -
issue that is vague or seriously
limited, and déemonstrates weak

- critical thinking, providing
inappropriate or insufficient
examples, reasons, or other
evidence-to support its position -

# is poorly organized and/or focused,
or demonstrates serious problems
with coherence or ptogressmn of
ideas

@ d1splays very little fac1hty in the use
- of language, using very limited
vocabulary' or incorrect word choice

® demonstrates frequent problems in.

sentence structure

® contains errors in grammar, usage,
and mechanics so serjous that
meaning is somewhat obscured

Essays not wriiten on the essay assignment will receive a score of zero.
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® ig d1sorganlzed or unfocuséd,

SCORE OF 1 :
An essay in this category demonsttates
very little or no mastery, and is .

severely flawed by ONE OR MORE of
the followmg weaknesses: ‘

@ develops no viable pomt of view on

the issue, or provides little or no-
evidence'to suppmt its posmon

resulting in a disjointed or
- incoherent essay

@ dlsplays fundamental errms m.

* vocabulary. -

B demonstrates severe ﬂaws in.

sentence structure

2 contams pervaswe errors in - :
grammar, usage, or mechanies that
persistently interfere with meaning



Scoring Worksheet for
Form Codes AEGA, BWGA,

How many muitiple-cholce mathematics questions did you get wrong?
© Section 3: Questions 1-8  _ _

Section 5: Questions 1-20 + o

Section & Quéstions 1186 &

E

CFGA

From your responses on your QAS report, fill in the blanks below and
do the calculations to get your critical reading, mathematics and writing

raw scores. Use the tables on the following pages to find your scaled
scores, e

Get Your Critical Reading Score

How many critical réadin'é questions did you get righi?
Section 2; Questions 1-25
Section 4 Questions 1-24 + _.
Sectio_n 9: Questions 1-18 + .

Total = (A)

SUN—

How many critical reading questions did you get wiong?
Section-2: Questions 1-25
Section 4; Questions 1-24

+
Section 9: Questions 1-18 +

Total = -
X 0.25 = (B}

A-B= .
Critical Reading

" Raw Score

Round the critical reading raw score to the nearest whole number.

. Use the table on page 53 to ﬁnd'your critical reading scaled score.

Get Your Mathematics Score
How many mathematics questions did you get right?
Section 3: Questions 1-18

Section 5: Questions 1-20 +
Section 8 Questions 116 + _

Total = W

-53.

Total

H]

X 0.25

e ABY

A-B =

Mathematics Raw Score

Round the mathematics raw score to the nearest whole number,

Use the table on page 53 to find your mathematics scaled score.

Get Your Writing Score o
How mariy mudtiple-choice writing questions did you get right?

Section 7: Questions 1-35

Section 10} Questions 1-14+

Total = )
How many multiple-choice writing questions did }'foﬁ get wrong?

Section 7: Questions 1-35

Section 10: Questions 1-14 +

Total =

X025 = (B

A-B

Frittmg Mu!t"iplc-Choice
Raw Score

Round the writing multiple-choice raw score to the nearest whole
number.

(©

Use the table on page 53 to find your wiiting multiple-choice scaled
SCOTE,

Copy your essay score from your QAS report.

()

Use the appropriate writing composite table (pages 54-56) for your
form code and look up your writing multiple-choice raw scove (C)
and your essay score (D) to find your writing coraposite scaled score.
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SAT Sé-_tfa:f-a Conversion Table
Form Codes AEGA, BWGA, CFGA

This table is for use only with-the test in this booklet.

-53-

Writing Writing
Critical Multiple. Critical Multiple-
: Reading | Math | Choice’ Reading | Math | Cheice.
CeRaw Scaled | Scaled | Scaled Raw Scaled | Secaled | Scaled
- Score “Score Scorg Score Score Score : Boore Score
67 800 ~ 31 500 540 54
66 800 30 490 530 53
. 65 790 29 480 - 530 52
- 64 770 28 480 | 520 51
63 . 750 27 470 510 50
C.62 . 730 26 470 500 50
61 720 25 460 490 49
60 700 24 - 450 490 | 48
59 690 23 450 480 47
. 58 680 - 22 440 470 46
57 " 670 21 430 460 45
56 660 20 430 450 - 44
55 650 19 - 420 450 44
. 54 640 800 18 420 440 43
.. 53 630 770 17 410 430 47,
52 630 740 16 400 420 41
“ 51 620 720 15 390 410 40
50 610 710 14 390 | 410 -39
© 49 600 650 80 13 380 400 39
C 48 600 680 78 12 370 390 38
;47 590 670 75 11 360 - 380 37
46 590 660 73 10 360 370 36
. 45 580 " 650 71 9 350 360 35
L 44 570 650 69 8 340 350 34
743 570 640 67 7 330 340 33
42 560 630 66 6 320 1330 32
41 560 620 65 5 310 320 -31
40 - 550 610 63 - 4 290 300 30
39 540 610 62 3 280 290 29
38 540 600 61 % 270 - 280 27
.37 530 590 60 1 250 260 26
- 36 530 580 59 0 1230 240 - 24
35 520 570 58 -1 210 220 22
34 510 570 57 -2 200 200 2.0
. 33 510 560 56 and ‘
32 500 550 55 below




SAT Writing Composite Score Conversion Table
Form Code AEGA

m’iting MC ‘ Essay Raw Score )
Raw Score | 12 11 | 10 9 8 7 6 i 4 3 2 0
49 8001800800800~ ~ 77017801535 7X0 1710 | 690 | 680 | 870
P48 800 } 800 | 790 | 780 { 750 | 70 | 710 690 { 680 | 670 | 660 | 430
47 800 1790 1 770 | 750 | 720 | 690 | &s0 660 T 650 | 640 | 630.| 6o
46 ) 780 | 770 1 750 1 730 | 700 | 680 | 660 [ s40 . 630 1 620 | 610 ) 600
45 0770 | rs0 | 730 | 710 | &s0 660 t 640 { 630 | 620 | 600 { 590 | ssp
© 44 750 ) 740 4 720 | 700 | 670 | 640 | e30 610 | 600 | 590 | 580 | 570
43 740 | 730 | 700 { 680 { 6350 630 | 620 | 600 | 590 | 580 | 560 | ss0
.42 730 | 710 | 690 | 670.] 640 | @20 600 | 590.1 580 { 560 | s50:] s54p
41 720 1 700 4 680 | 660 | 630 | 610 | s00 580 4 570 | 550 | 540 | 530
<40 710 1 690 | 670 | 650 [ 620 | 600 | sg0 570 ) 560 | 540 | 530 | s20
39 700 | 680 | 660 | 640 | 610 | 500 | 570 560 | 550 | 530 | 520 510
T-38 690 | 6701 .650 | 630 | 400 %80 | 560 | 550 | 540 | 520 | 510 | sp0
37 - 680 | 660 ! 640 | 620 | 590 | 570 | s50 540 | 530 | 510 | s00 | 490
1 3 . 670 | 660 | 630 .1 610 | 580- s560 550 1 530 | 520 | 510 | 490 | 4s0
1 738 - 660 | 650 - 620 | 610 { 580 | 550 | 540 | 520 { 510 500.] 490 | 430
3 1650 | o640 | 610 | so0 | 570 540 ) 530 510 | 500 { 490 | 480 | 470
- 33 640 | 630 | 610: 590 | 560 | s4p 530 510 f 500 | 480 | 470 | 460
S92 64041 620 | 600 | 580 | ss0 530 1 510 | 500 | 490 | 470 | 460 | 450
T3 f 630|610 | so0 | 570 540 1 520 | 500 | 490 | 480 | 470 | 4s0 440
-+ 30 620 | 610 | 580 | 570 | sao | s10 500 | 480 { 470 | 460 [ 450 | ado
Cae 610 | 600 | 580 | 560 { 530 | 510 490 | 470 | 470 | 450 | 440 | 43p
28§ 610 | 500 | 570 550 § 520 {500 | 480 { 470 | 450 440 | 430 | 490
27 71 600 580 | 560 | s40 | s10 | 40p | 480 | 460 | 450 | 440 | 420 | 410
- 26 990 ) 580 | 550 | 540 ' 510 | 480 | 470 | as0 440 | 430 { 420 | 410
25 - F sso-| s70 | ss0 | sa0 500 | 480 [ 460 { 450 | 440 { 420 -] 410 | 400
L4 580 | 560 [ 540 | 520 | 490 | 470 450 [ 440 | 430 | 410 | 400-| 390
L2 5701 560 | 530 | si0 | 480 | 40 450 | 430 | 420 |. 410 { 390 | 380
C 220 Fs60 [ o550 | s30 | s1p 480 "1 450 | 440 | 420 | 410 | 400 | 300 | agg
o2 550 | 540 | 520 | s00 | 470 | ogsp 430 | 420 | 410 | 3% | 380 | 370
204 ) 550 { 530 | s10. 490 [ 460 |. 440 | 420 | 410 } 400 | 390 { a0 | 360
19 540 | 530.] 500 | 490 | 460 . 430 420 | 400 | 390 | 380 | 370 | 360
A8 k530 | 520-) s00 | 480 | aso | oasg 410 | 400 | 390 | 370 | 360 { as0
17 530 | si0 ] 490 | 470 440 |- 420 400 | 390 | 380 | 360 | asp 340
o 167 | 520 510 480 .| 470 | 440 410 400 1 380 | 370 | 360 | 340 | 34
1574 610 [ 500 | 480 :| 460 | 430 | 4ig 390 f 370 | 370 | 350 | 8340 | 330
M - s510 { a0 | a7 - 450 | 420 | ‘400 | 380 | 870 | 360 | 340 330 | 320
© 18 p 500 | 490 | 460 | 440 | 410 | 300 - 380 | 360 | 350 )] a40 | 320 | 310
12 490 . 480 | 460 | ‘40 | a10 | 380 870 ) 350 | 340 | 330 | 320 { 310
11 480 | 470 1" 450 | 430 | 400 | 380 | 360 | 250 340 | 320 | 310.| 300
10 480 | 460 | 440 | 420 | 390 | 370 | 350 340 1 330 | 320 | 300 | 290
o A70 1 460 | 430 | 420 |. 390 | 360- | 350 330 | 320 | 310 | 300 { 290
8- 1460 | 450 -} . 430 | 410 | 380 13500 340 [ 320 | 810 | 300 | 200 ) 280
7 450 ¢ 440 | 420 | 400 | 370 | 350 | s30. | 200 310 | 290 | 280 | 270
6 4501 430 ] 410 | 390 { asp 0340 1 320 { 310 | 300 | 280 270 | 260
-5 440 | 420 | 400 | 380 | 350 | 330 | 310 | 200 200 ) 270 | 260 | 230
4 430 | 410 { 390 | 370 | 340 | 320 300 1 290 | 280 | 260 | 250 | 940
3 410 ) 400 | 380 | 360 | 330 | 310 | 290 | 280 270 | 250 240 | 230
2 400 1 390 | 370 | 350 [ 320 | 300 | 9280 260 | 260 | 240 | 230 | 220
1 390 | 380 [ 350 | 330 | 300 | 280 | 270 250 | 240 | 230 | 210 | 200
0 - 370 1 360 | 340 | 320 | 290 | 270 | 250- 240 [ 230 | 210 | 200 | 200
S 360 1 340 | 320 |-300 { 270 | 250 | 9230 | 220 216 | 200 | 200 | 200
: G 340 | 320 | 300 | 280 | 250 | 230 | 210 | 200 200 1 200 | 200 | 200
: SR 820 | 300 | 280 | 260 | 230 | 210 | 200 | 200 200 | 200 { 200 | 200
: and below ] ) . .

This table is for use only with the test in this booklet.
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SAT Writing Composzlte Score Conversion Table
Form Code BWGA

T

: Writing MC ) Essay Raw Score .
T Raw Score {1 12 11 10 9 | 8 7. 6 5 4 3 2 . 0
_ -4 800 | 800 | 800 | 800 [ 730 [ 760 740 | 7201 710 { 700 | 690 | 670
¥ —HgT FOUT800 790 [ 78050 TS0 IO 700 690 670 [ 660 | GAU
: B YA 800- | 790 | 770 | 750 | 720 700 | 690 | 670 | 660 { &40 | 630 | 620
46 780 | 770 | 750 | 730 } 700 | 680 | 670 .| 650 | 640 | 630 | 610 | 600
45, 770 | 750 730 | 720 j 690 | 670 | 650 | 630 | 620 | 610 | 600 | 580
L 44 C750 | 740 | 720 | 70O | 670 | 650 | 640 | 620 | 610 | 590 | 580 | 570
43 p o740 [ 720 | 700 | 690 | 660 | 640 | 620 | 600 | 590 | 580 | 570 | 550
t 4 730 | 710§ 690 | 680 | 650 | 630 | 610 } 590 | 580 | s70 | 560 | 540
i c41 . p.70 | 700 | 680 ) 670 | 640 | 620 | 600 | 580 | 570 { 560 | 550 | 530
o 40 700 | 690 | 670 | 660 | 630 | 610 | s90 | 570 | 560 | 550 | 540 | 520
2% L 39 690 | 680 | 660 | 650 | 620 | 600 | 580 | 560 | 550 § 540 | 530 | 510
- 38 690 | 670 | -650 | 640 | 610 | 590 570 | 550 | 540 ] 530 | 520 | 500
37 680 | 660 | 640 ) 630 | 600 | 580 | 560 | 540 { 530 | 520 | 510 { 490
.36 670 | 650 | 630 | 620 | 590 | 570 { 550 | 530 { 520 | 510 | 500 { 480
S35 - f660 | 640 | 620 .| 610 | 580 | 560 1 540 | 530 § 520 | 500 | 490 | 470
- 34 650 | 640 | 610 | 600 | 570 | 550 | 540 | 520 | 510 | 490 | 480 | 470
P a3 - 640 | 630 | 610 | 590 | 570 | 540 | 530 | 510 | 500 | 490 | 470 | 460
32 .} 630 | 620} 600 | 590 .) 560 | 540 | 520 | 500 | 490 | 480 | 470 | 450
T3l . 630 | 610 | 590 | 580 | 550 | 530 | 510°) 490 | 480 | 470 | 460 | 440
a0 620 | 610 | 580 | 570 | 540 | 520 | 500 { 490 | 480 | 460 | 450 | 440
29 610 | 600 | 580 | 560 | 530 | 510 | 500 | 480 | 470 | 460 | 440 | 430
28 600 | 590 | 570 | 560 | S30 | 500 | 490 | 470 | 460 | 450 | 430. | 420
.27 600 | 580 | 560 | 550 | 520 | 500 | 480 | 460 | 450 | 440 | 430 | 410
26 590 | 580 | 550 | 540 | 510 | 490 | 470. | 460 | 450 | 430 | 420 ! 410
25 580 | 570 | 550 | 530 | 510 | 480 | 470 | 450 | 440 | 430 | 410 | 400
24 .1 580 | 560 | 540 | 530 | 500 | 480 | 460 | 440 | 430 |- 420 | 410 | 390
o238 ] 570 | 550 | 530 | 520 | 490 | 470 | 450 | 430 | 420 | 410 | 400 | 380
.22 '560 | 550 | 530 | 510 | 480 | 460 | 450 | 430 { 420 | 400 | 390 | 380
el 550 | 540 | 520 | s10 | 480 | 450 | 440 | 420 | 410 | 400 | 380 | 370
© 20 550 | s30 | si0 | 500 | 470 | 450 | 430 | 410 | 400 | 390 | 380 | 360
19 ) 540 | 530 | 500 | 490 |. 460 | 440 | 420 | 410 | 400 | 380 | 370 | 360
18 530 | 520 | 500 | 480 | 460 | 430 | 420 | 400 | 390 | 380 | 360 | 350
17 530 | 510 | 490 | 480 | 450 | 430 |- 410 | 390 | 380 | 370 | 360 | 340
C 16 520 | 500 [ 480 | 470 | 440 | 420 | 400 | 39 | 380 | 380 | 350 | 330
15 T 510 | 500 | 480 | 460 | 430 | 410 | 400 | 380 | 370 | 360} 340 | 330
14 ] 500 | 490 | 470 | 460 | 430 | 410} 390 | 370 | 360" | 350 | 340 | 320
13 500 | 480 | 460 | 450 | 420 | 400 | 380 | 360 | 350 | 340 | 330 | 310
12 490 |- 480 | 460 | 440 { 410.| 390 |.380 | 360 | 350 | 330 | 320 | 30
-1l 480 | 470 | 450 | 430 | 410 | 380 | 370 | 350 . 340 | 330 | 310 | 300
10 - 480 | 460 | 440 | 430 | 400 | 380 | 360 | 340 | 330 | 320 | 310 | 290
9 470 | 450 | 430 [ 420 | 890 | 370 | 350 | 340 | 330 { 310 [ 300 | 280
8 460 | 450 | 430 | 410 | 380 } 360 | 350 | 330 | 320 | 300 | 290 | 280
7 450 | 440 | 420 | 400 | 380 | 350 | 340 | 320 | 310 | 300 | 280 | 270
L6 o440 | 430 | 410 | 400 | 370 | 340 | 330 { 310 | 300 | 290 | 270 | 260
L5 440 | 420 | 400 | 390 | 360 | 340 | 320 | 300 | 290 | 280 | 270 | 250
4 430 | 410 | 390 | 380 | 350 | 330 | 310 | 290 | 280 | 270 | 260 | 240
3 ~ 410 | 400 |- 330 | 370 | 340 | 310 | 300 | 280 | 270 | 260 | 240 | 230
2 400 | 390 | 370 | 350 | 320 | 300 | 290 | 27D | 260 | 250 | 230 | 220
1 390 (370 | 350 | 340 | 310 | 290 | 270 | 250 | 240 | 230 | 220 | 200
0 370 | 360 | 340 | 320 | 300 | 270 | 260 | 2407 | 230 | 220 | 200 | 200
1 350 | 340 | 320 | 310 | 280 | 260 | 240 | 220 | 210 | 200 | 200 | 200
9 - F 3a0 1 320 | 300 [ 290 | 260 | 240 | 220 | 200 | 200 | 200 | 200 | -200
3 320 | 300 | 280 | 270 | 240 | 220 | 200 § 200 P 200 | 200 | 200 | 200
and below e

This table is for use only with the test in this booldlet.
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SAT Writing Composite Score Conversion Table
' Form Code CFGA

Writing MC #ssay Raw Score :
_Raw Score 12 11 10" 9 8 7 3 5 4 3 7 0
49 800 | 800 1 800 | -7o0-T 375 7SO0 70 | 7E0 | 690 | 630 | 670
a8 800 { 800 | 730 | 770 | 750 730 ) 710 f 690 | 680 | 670 | 650 | 640
47 01770 | 760 | 70 | 720 700 | 680 | 670 | 650 | 640 | 620 | s10
46 770 1750 1 740 | 720 | 700 680 | 660 | 650 | 630 | 620 | 600 | e00
45 7501 740 | 720 | 700 | 6s0 660 | 650 | 630 | 620 | 600 | 590 | 580
44 70 1 720 | 710 | e90 | 670 650 { 630 { 620 | 600 | 590 | 570 | 570
43 730 1710 | 690 | 630 | e60 640 | 620 } 600 | 590 | 580 | se0 | ss0
4 7101 700 | 680 { 670 | ¢40 | eog 610 | 590 | 580 | 560 | 530 | s40
41 700 | 690 | 670 | as0 630 | 610 | 600 | 580 | 570 | 550 | s40 | s30
40 690 1 680 | 660 | 640 | 620 600 | 590 |-570 | 560 { 540 | 530 | s20
39 680 | 670 | 650 | 6an | 610 590 | 580 | 560 | 550 | 530 | s20 | si0
38 670 1 660 | 640 | 630 | 600 | s80 570 1 550 { 540 | 520 | s10 ) 50
37 660 | 650 | 630 | 620 | so0 580 | 560 | 540 | 530 | 520 | 500 | 490
36 660 640 620 6lo 590 570 550 530 520 510 490 480
35 650 1 630 | 620 | 600 | s80 560 | 540 { 530 1 510 | s00 | 480 | 470
. 34 040 1620 | 610 | 590 | 570 550 f 530 | 520 | 510 | 490 | 470 | 470
33 630 | 620 { 600 | 580 560 + 540 | 530 [ 510 | 500 | 480 | 470 | asg
32 1 620 | 610 | 500 580 | 550 | 530 | 520°| 500 { 490 | 470 | 460 { 4sp
81 I 620 | 600 | 580 570 [ 550 | 530 | 510 | 490 { 480 | 470 | 450 | 440
30 T 610 590 580 560 540 520 500 490 470 460 440 440
S 29 600 + 580 | 570 | ss0 | sa0 510 [ 500 | 480 | 470 | 450 | 440 { 430
98 590 | 580 | 560 | s50 | 590 | s00 | 490 | 470 | 460 | 440 | 430 | 420
27 590 570 | 550 | s40 | 500 500 | 480 [ 470 | 450°[ 440 | 420 | 410
26 580 | 560 | 550 | s30 | s10 490 § 470 | 460 | 450 | 430 | 410 | 410
25 570 1 560 | 540 | 520 | s00 | 430 470 | 450 | 440 | 420 | 410 | 400
24 560 | 550 | 530 { s20 | 490 | aso 460 | 440 | 430 | 420 | 400 | 390
23 560 | 540 [ 530 | 510 | 490 | 470 450 | 440 | 420 | 410 | a90 | 380
23 550 530 | s20 | s00 | ago 460 | 450 | 430 | 420 | 400 | 390 | 380
91 540 1 530 | 510 | s00 | 470 | 450 440 | 420 | 410 | 390 | 380 | aro
20 540 ) 520 | s00 | 490 | 4y 450 { 430 | 420 | 400 | 390 | 370 | 360
19 530 | 510 | 500 | 480 | agg 440 | 420 [ 410 | 400 { 380 | 360 | 360
18 520 (7510 | 490 | ay0 | 450 | 430 420 | 400 [ 3% | aro | 360 | 3s0
17 5201 500 | 480 | 470 | aso | 4ag 410 1 400 | 380 | 370 | 350 | 340
16 510 1 490 480 1 460 | 440 | 420 | 400 | 390 | 380 | 360 340 | 340
15 S00 | 490 470 | 450 | 430 | 410 400 { 380 [ 370 | 350 | 340 | 330
14 500 480 460 450 430 410 390 370 360 as0 330 320
13 490} 470 | 460 | 440 | 420 | ago 380 | 370 | 360 | 340 | 320 | a20
12 480 |\ 470 | 450 | 430 | 410 | 300 380 | 360 | 350 | 330 )| 320 | 310
11 470 1 460 | 440 | 430 | 400 | 390 370 | 350 | 340 | 330 | 310 | 300
10 470} 450 | 440 | 420 | 400 | 330 360 | 350 | 330 | 320 | 300 | 290
9 460 | "440° | 430 | 410 ) 390 370 | 360 | 340 | 330 | 310 | 200 | 290
8 450 440 | 420 | 400 | 280 360 | 350 { 330 | 320 | 300 | 200 | 280
7 440 | 430 | 410 | 400 | 370 | 360 340 | 320 | 310 | 300 | 280 | 270
6 440 | 420° | 400 | 290 370 | 350 | 330 | 310 | 300 | 290 | 270 | 20
, 5 430 1 410 | 390 | 380 | aco 340t 320 | 310 | 290 | 280 | 260 | 250
4 420 } 400 | 380 | 370 350 | 330 | 310 | 300 | 280 { 270 | 250 240
-3 410- | 390 | 370 | 360 | 340 | 230 300 | 280 | 270 | 260 | 240 | 9230
2 390 1 380 | 360 | 350 | as0 300 ) 290 1 270 | 260 [ 250 | 230 | 220
1 3801 360 | 350 | 330 | 310 | 200 280 | 260 | 250 | 230 | 20 | 210
0 360 | 350 | 330 | 320 | 290 280 | 260 | 240 | 230 { 220 | 200 | 200
-1 350 1 330 | 320 | 300 | 280 260 | 240 | 230 | 210 | 200 | 200 | 9200
2 330 1 310 | 300 | 280 | 260 240 § 220 | 210 | 200 | 200 | 200 { =200
231 310 | 290 | 280 260 | 240 f 220 | 200 | 200 | 200 | 200 | 200 | 200
and l)elow

This table is for use only with the test in this boolklet.
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{ ¢ ELablile oneet for Essay

¢ This is a COPV of the answer sheet provided to you on the day you fested.

‘ ) O I prefer NOT to grant the College Board the right to 138, reproduce, or publish my sssay for any purpose
' i beyond the assessment of my writing skills, even though my name will not e used in any way in conjunction
j with my essay. | undersiand that | am free to mark tis circle with nu effect on rmv score,

JMPORTANT Use a No. 2 PENCIL. Do NOT write outside the bordarl

ords-written-outsidle the essay Sox oF Wilen T 7k WL NOT LPPE ZAR in the copy
sent to be scored, and your score wul Do affecizd,

Begin your essay on this page. If you need more space, continue on the next pugsa.

PR e e

S—

Caontinue on the next page if necessary.
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ACTICE waset for Essay
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